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o &t 279,569 251,110 28,459
= 251,612




SA A2
Hu: 20| ZMELE 1
&l MASSIIZMEEE KR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 19,570
T 8,387
301 EtE NS 279,569 251,110 28,459
= 251,612
Al 19,570
- 8,387
01 AR 2EHSHS(RNEXRTH) 279,569 251,110 28,459
Ol & &S0 279,569,000 279,569
= 251,612
Al 19,570
- 8,387
ST A2t 6,228 6,228 0
201 =3 3% 3%
2 s3234| 3% 3%
OSall 33,000~ 1CH* 122 3%
202 04l 5,832 5,832
01 =LHA LI 5,832 5,832
OSE XA EE0H]
10,0002 x9S 6 + 123 «90% 5,832
Ml SEH S5 N 150,804 122,094 28,710
301 LEtE NS 150,804 122,094 28,710
02 ARSI S2E AT S(FIANS, XLETHE) 150,804 0 150,804
OMeD| SEH S5 A& 180,804
o&it=ght
3553 *5, 900AI CH*60H = 122 150,804
e AS NE 190,956 189,132 31,824
301 LEtE N = 190,956 189,132 31,824
02 MR 2HHLFS(HAAS, XLHE) 190,956 0 190,956
ONASE FOIAALHE L 2)|QULH
= 190,956,000 190,956
A=A g2 =X 2,430 2,430
203 =] 2,430 2,430
03 A=A 2= 2,430 2,430
OAt2I=Xl 2 AIMFUP 2=
2,700,000 *90% 2,430
HAS 24 EL X3 36,180 47,088 10,908
Al 3,090
- 3,090
= 30,000
301 EtE NS 36,180 47,088 10,908
Al 3,090
- 3,090
= 30,000




S ABISE D
SJE

HH: 20| ZHEBY X
&l MASSIIZMEEE KR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 A2 EH LGS (FHAAHS, XNSWE) 36,180 0 36,180
OMaS ol ELl YSeHE =0REs
000,000 30,000
= 30,000
ORAS w0 SU =oi2ga
6,180,000& 6,180
Al 3,090
- 3,090
tigs &das 181,770 98,280 83,490
Al 181,770
301 EtE NS 181,770 98,280 83,490
Al 181,770
02 ARSI 2E A S(FANS, XLETHE) 181,770 0 181,770
Otlgs etdas 181,770,000 181,770
Al 181,770
X2 A 6,822,007 5,967,030 854,977
= 5,795,839
[ 161,495
Al 567,486
- 296,767
= 420
HASE & X 6,822,007 5,967,030 854,977
= 5,795,839
[ 161,495
Al 567,486
- 296,767
= 420
=22 4,521,837 4,541,266 19,429
= 4,069,653
Al 316,529
- 135,655
301 LEtE NS 1,146,000 1,008,019 137,981
= 1,031,400
Al 80,220
- 34,380
01 Al EE A S (2 RDEXA) 1,146,000 1,008,019 137,981
ONE22 (AR L)
1,146,000,000& 1,146,000
= 1,031,400
Al 80,220
- 34,380
307 @120l & 3,375,837 3,533,247 157,410
= 3,038,253
Al 236,309




SN MBI
33 A3 A
=@l MASE THE K2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 101,275
11 AMEISXAEEXS 3,375,837 3,533,247 157,410
Oftg=2(e29A5) 3,375,837,000& 3,375,837
= 3,038,253
Al 236,309
- 101,275
A2 Ar 2l 30,707 29,263 1,444
[ 21,495
Al 4,606
- 4,606
307 elztol & 30,707 29,263 1,444
= 21,495
Al 4,606
T 4,606
11 AMEISXAEEES 30,707 29,263 1,444
OXtE Atedl2tel 30,707,000& 30,707
= 21,495
Al 4,606
- 4,606
S|2E(job)Ot ZE2RE 4,500 8,000 23,500
Al 4,500
307 21201 & 4,500 8,000 A3,500
Al 4,500
1 AMEISXAEEXS 4,500 8,000 A3,500
O3 (job)OF Z2HE 4,500,000 4,500
Al 4,500
NS 2HE 29 424,722 406,821 17,901
= 297,011
Al 63,646
- 63,645
= 420
307 @201 & 424,722 406,821 17,901
= 297,011
Al 63,646
- 63,645
= 420
10 Al2IS XA EEE 22X 424,302 406,821 17,481
OXSixtadE 24 422,862,000 422,862
= 296,003
Al 63,430
- 63,429
O3J18&87| gz 1,440,000 1,440
= 1,008




SN MBI
33 A3 A
gelr MASS g N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 216
T 216
11 AMEISXAIEEES 420 0 420
OAIS XA 2=WSHIXI2
28,0002 %154 420
= 420
NSXEHE ST SS2H =& 30,442 19,894 10,548
Al 15,221
- 16,221
307 gl2to| & 30,442 19,894 10,548
Al 15,221
- 15,221
10 AlRISXAZEE 22X 30,442 19,8%4 10,548
OXNSTHEHEISAIL BsE2d8+E
30,442,000 30,442
Al 16,221
- 15,221
NS HEISAHA S X8 == 4,250 2,650 1,600
Al 4,250
307 212+01& 4,250 2,650 1,600
Al 4,250
1 AMEISXAIEEXS 4,250 2,650 1,600
OXNS X2 SALA SXE =
4,250,000 4,250
Al 4,250
;(lzixrzz%g ASIAHIZ SXEAF (OIARFE 2 X R ALY 200,000 265,079 265,079
[ 140,000
Al 30,000
- 30,000
307 elztol & 200,000 265,079 265,079
= 140,000
Al 30,000
T 30,000
05 21t =2 200,000 265,079 A\65,079
O ESEEROIAE
200,000,000 200,000
= 140,000
Al 30,000
- 30,000
ZesEAsTsMHAE=s8NE 1,587,973 692,457 895,516
= 1,429,175
Al 111,188
- 47,640




SN MBI
g UK AME
=@l MASE THE K2 (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
307 QI2HOl A 1,587,973 692,457 895,516
= 1,429,175
Al 111,158
- 47,640
1 ASI=SXAIEE S 1,587,973 692,457 895,516
Os|¥II=2SH | 27,057,000& 27,057
= 24,351
Al 1,8%4
- 812
Os|LII2SE I 54,669,000& 54,669
= 49,202
Al 3,827
- 1,640
ougsI=zsx 15,673,000& 15,673
= 14,106
Al 1,097
- 470
Oy |I=2SE 71,730,000& 71,730
= 64,557
Al 5,021
- 2,152
OHAXMEAH 145, 166,000& 145,166
= 130,649
Al 10,162
- 4,355
OSIYH=HE | 192,086,000& 192,086
= 172,877
Al 13,446
- 5,763
O3 Y M=HZEHI 68,720,000& 68,720
= 61,848
Al 4,810
- 2,062
OEHUHL M S HTH(XHARI0l5)
193, 109,000& 193,109
= 173,798
Al 13,518
- 5,793
OHEUHL M= HEH (XA =1
819,763,000& 819,763
= 737,787
Al 57,383
- 24,593
XS T2HE SAHAL S8 XA 1,400 1,600 A200




2A: AREE
M T XA
gelr MASS g N AR
SN - B CRI(S]) - NISAY - BES A HIm=S2t
Al 1,400
307 212+01™ 1,400 1,600 A200
Al 1,400
11 AL SXAMEER 1,400 1,600 A200
OXISR2HE SAIR SEHEH X3
1,400,000& 1,400
Al 1,400
KNS EHE SAHA S2H 2 2|t 10,800 0 10,800
Al 10,800
307 2I2+0l™ 10,800 0 10,800
Al 10,800
10 Al =S XA EEHER2IHIE X 10,800 0 10,800
OXISR2EEH SAAL =281 & 22|kt
=4 10,800,000& 10,800
Al 10,800
KNSR HE SALAE AlZEel=E 5,376 0 5,376
Al 5,376
307 QIZ2t01 A 5,376 0 5,376
Al 5,376
10 Al S XA EEHE2IHIE X 5,376 0 5,376
OXISREHE SAR AlZ2E2l=E
5,376,000& 5,376
Al 5,376
& SZHI(ALSI 2 &1 219,689 88,135 131,554
iy 86,234
Al 21,559
- 111,8%
Jl23dl(Ale 2 &) 53,124 51,3% 1,728
Jl2dtl MSAE (AR 2 &0 53,124 51,3% 1,728
201 B2 AY| 35,364 33,636 1,728
01 At 2elt] 34,968 33,240 1,728
Oger=2| 54,5003 *30 * 12 x90% 17,688
O=&tl 8,000&*30H 64!« 12& 17,280
02 32| 3% 3% 0
OS4ld| 33,0003 «1CH* 123 3%
202 04dl 12,960 12,960
01 =LHO4 b 12,960 12,960
O=&0d| 10,000 *20H *6 2 * 122 *90% 12,960
203 AR F=&lH| 4,800 4,800
M 2GRS 4,800 4,800
ORN2ILRFA| 400,000+ 128 4,800
OlA2AH| (AL 2 &1t) 166,565 36,739 129,826
= 86,234




SN ASIRID
M HAPAZHI(AZ2ZED)
Chel: Ol 2 ofH| (AIBI 2 &) (Hol: &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 21,559
T 58,772
QA2 HH| MISRAS (K2 XIRAE A} 38,232 36,739 1,493
101 @124H| 38,232 36,739 1,493
03 SR (RINHA) 222+ 38,232 36,739 1,493
OBRHZ2EIH5EE) 38,232
odlEs 2,011,700 122 24,141
o AlZtel=& 15,6203 *x30AI 2H+ 123 5,624
o ZMzAHI 140,000~ 12& 1,680
o HERIII 2,414,040 2,415
o girE+rE 83,3202 15 1,250
odz+H 1,005,850 1,006
0 EE0H] 120,000& 122 +0.9 1,296
o d2EIt= 25,0002 12 300
0SS 40,000 * 123 480
oM A 20,0002 *23] 40
QIA2HH| NMRAIS(AETSHZCIAL 128,333 0 128,333
[ 86,234
Al 21,559
- 20,540
101 @124H| 128,333 0 128,333
[ 86,234
Al 21,559
- 20,540
03 BRA(RIH L) 22U E > 128,333 0 128,333
OZR22X2+ 128,333,0002 128,333
= 86,234
Al 21,559
- 20,540




H & 0l & AHS B Ml A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o1t 167,087,860 137,922,732 29,165,128
= 100,354,824
Al 37,869,881
- 27,639,421
= 1,223,734
=X 3= 105,360,907 83,956,491 21,404,416
= 68,170,351
Al 21,130,201
- 14,868,761
= 1,191,594
CEME otED|E & 94,305,912 73,834,957 20,470,955
= 65,349,172
Al 17,248,303
- 11,649,207
= 59,230
ESUIE NI 93,350,548 72,806,589 20,543,959
= 65,349,172
Al 16,800,826
- 11,200,550
301 LEtEd 93,350,548 72,806,589 20,543,959
= 65,349,172
Al 16,800,826
T 11,200,550
01 Al 2&H S(FNEZMH) 93,350,548 72,806,589 20,543,959
OJlz¢= X 93,350,548,000& 93,350,548
= 65,349,172
Al 16,800,826
- 11,200,550
JI=AZ ALY XI& 1,180 1,560 A380
201 Ler23| 1,180 1,560 A380
01 At2teltl 1,180 1,560 A380
OJIz=¢=s s & 2= M
1,000, 0002 *90% 900
OJI=¢3 =g
70,0002 x4 *13] 280
ZAY 24 X3 683,490 733,440 49,950
Al 312,130
T 312,130
= 59,230
307 @I2t01 & 683,490 733,440 A\49,950
Al 312,130
- 312,130
= 59,230




2A:

L=
mm: Lol=y| MM
Helr S48 otFEDIg 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 683,490 733,440 A\49,950
OF2AY 2RI A
683,490,000& 683,490
Al 312,130
- 312,130
= 59,230
HESSE MAS Mot AAHE 177,450 202,800 N25,350
Al 88,725
- 88,725
307 gl2to| & 177,450 202,800 N\25,350
Al 88,725
- 88,725
11 AMISXAIEEX 177,450 202,800 N25,350
ONSSH HAS WKl AAH
177,450,000 177,450
Al 88,725
- 88,725
COIRSSA M2 ZHIE2ZAIS 14,000 14,000 0
Al 7,000
- 7,000
402 2IZtA=01d 14,000 14,000 0
Al 7,000
- 7,000
02 RIENZASEZ(0IETHR) 14,000 14,000 0
OLQISRIAl ARIDIZ FHISAIY
14,000,000& 14,000
Al 7,000
- 7,000
IS4 2 oE - 79,244 76,568 2,676
Al 39,622
- 30,622
307 el2tol & 79,244 76,568 2,676
Al 39,622
- 39,622
1 AMISXAIEEXE 79,244 76,568 2,676
OS24 372 02 T
79,244,000 79,244
Al 30,622
- 39,622
SIEE Lo=X MHIA XIE 2,494,294 2,011,190 483,104
= 1,281,576
Al 607,788
- 604,930
CRISXIAHIA LBt K& 2,050 1,900 150




2A:

ol
mm: Lol=y| A
oSl UEE LoI=X AHIA X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,180 1,000 150
01 At2teltl 1,150 1,000 150
OkQlolg RS HEE M
30,0003 %15 450
OfITa &4+¢ 70,0002 x5 H *23] 700
203 =4l 900 900
03 Al =X H 22| 900 900
OLoI=X 2L =& 23
1,000,000 *90% 900
SHCe eHEXIZ01 At 2,000 3,000 A1,000
307 elzto| & 2,000 3,000 A1,000
1 AMEISXAEEXS 2,000 3,000 21,000
O2sAtgdaty XI2t| 2,000,000 2,000
Al oty E X3 107,512 136,942 N\28,430
Al 53,756
- 53,756
301 EtE NS 23,650 51,000 A27,350
Al 11,825
- 11,825
02 MBI 2HHSFS(FHAANS, KLHE) 23,650 0 23,650
Ot E JID11H 23,650,000 23,650
Al 11,825
T 11,825
307 el2tol & 83,862 84,942 /1,080
Al 41,931
- 41,931
11 AMEISXAEEXS 83,862 84,942 1,080
Oty ZE SUHIs 78,342,000 78,342
Al 39,171
- 39,171
Ot E JPDI==2l & 2clHlE
5,520,000 5,520
Al 2,760
- 2,760
Lol EEsAHlIA X3 1,830,824 1,590,238 240,586
= 1,281,576
Al 274,624
- 274,624
307 elztol & 1,830,824 1,590,238 240,586
= 1,281,576
Al 274,624
- 274,624
11 AMEISXAEEES 1,830,824 1,590,238 240,586




2A:

-

ZHOH el 1t

ol
mm: Lol=y| A
oSl UEE LoI=X AHIA X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol E==sAHIAXA
1,830,824,000& 1,830,824
= 1,281,576
Al 274,624
- 274,624
LOINESSSMEIA SAX MM 6,150 6,450 A300
Al 6,150
307 212+01& 6,150 6,450 A300
Al 6,150
11 AMEISXAIEEXS 6,150 6,450 A300
OLIXESSAHIA SAEL SXE+
250,000 +7 1,750
Al 1,780
OLQIXEZSSMUIA SAHL SeA2 38
Bl XI& 200,000& %1 200
Al 200
OLQIXZSSMUIA SAH S|
600,000 7 4,200
Al 4,200
M2z =& =0 2 Foie X 3,258 3,000 258
Al 3,258
301 22N = 3,258 3,000 258
Al 3,258
02 A2 H -GS (FHAAHS, NSWE) 3,258 0 3,258
ONEs8s =8 o ¥ Hoe X
3,258,000& 3,258
Al 3,258
=& =SA2tE Xs 540,000 266,160 273,840
Al 270,000
- 270,000
307 @I2t01 & 540,000 266,160 273,840
Al 270,000
- 270,000
11 AMRISXAEEES 540,000 266,160 273,840
Ogtdg =2t X2 540,000,000 540,000
Al 270,000
T 270,000
SHCel Rt X 2,500 4,500 22,000
301 EtE N = 2,500 4,500 22,000
02 A2 X LGS (FHAAHS, NSWE) 2,500 0 2,500
O=Hol HEAX X (FRUEAH
10,0002 *250H 2,500
LoISXAE 29 2,749,968 2,737,407 12,561
= 1,364,300




FA I OoNel 1t
mm: Lol=y| A
ol Z=EXIANE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,319,752
T 65,916
LZAIE 2 N2 (HEAY) 679,194 614,705 64,489
Al 679,194
307 21201 & 679,194 614,705 64,489
Al 679,194
10 Al SXAAEEHE 22X 679,194 614,705 64,489
OLSRYZAIL X8
679,194,000 679,194
Al 679,194
SIAZANE SMHL EXE= 3,850 2,600 1,250
Al 3,850
307 212+01& 3,850 2,600 1,250
Al 3,850
1 AMEISXAIEEXS 3,850 2,600 1,250
OFRB2LZAE =8+ 3,850,000& 3,850
Al 3,850
SUZAIE SAA SEHl & 2elhE 9,600 9,600 0
Al 9,600
307 glztol & 9,600 9,600 0
Al 9,600
11 Al S XA 9,600 9,600 0
OFRZLZAIE SAHL S8 & 2kt
g 9,600,000 9,600
Al 9,600
LZ AL SALL SEAZZTH X2 (HRHA) 1,400 1,400 0
Al 1,400
307 elztol & 1,400 1,400 0
Al 1,400
1 ARISTIAISE X 1,400 1,400 0
OLQ=TAIE SALL Se2Z88H| XI&
1,400,000& 1,400
Al 1,400
== AtEEEtel PaAld 2EHl K& 1,306,000 1,451,000 145,000
= 1,306,000
307 @I2t0| & 1,306,000 1,451,000 145,000
= 1,306,000
10 AlRISTIAIEEE 22X 1,306,000 1,451,000 145,000
OAtZelsSEZALE 2 1,306,000,000& 1,306,000
= 1,306,000
AN SESRg2 SAL SXE s 7,050 4,650 2,400
Al 7,050
307 gl2to| & 7,050 4,650 2,400




FA I OoNel 1t
mm: Lol=y| A
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,050
11 AMEISXAEEXS 7,050 4,650 2,400
ONEUSE=SNZ AT SNEL
7,050,000& 7,050
Al 7,050
AZelSHEe 2t SAHL S8 XA 2,600 3,600 21,000
Al 2,600
307 lztol & 2,600 3,600 21,000
Al 2,600
11 ARRIS XA E X 2,600 3,600 21,000
ONZRISESZ ZAIX ZSALATY| X
& 2,600,000 2,600
Al 2,600
AN SIS 2 SAL 88 & 22k+=& X2 16,800 0 16,800
Al 16,800
307 elztol & 16,800 0 16,800
Al 16,800
11 AMEISXAEEES 16,800 0 16,800
OMBRISTSRBANSRHIL BN
16,800,000 16,800
Al 16,800
LOIQAANM 2H(SAX) 479,208 528,386 A\49,178
Al 479,208
307 gl2tol & 479,208 528,386 AN\49,178
Al 479,208
10 Al SXAEEHE2EHI2x 479,208 528,386 A49,178
OLQIQAANE 2 (SR
479,208,000& 479,208
Al 479,208
Hot=Ql SXAIE X2 (SR 120,000 113,600 6,400
Al 60,000
- 60,000
307 el2tol & 120,000 113,600 6.400
Al 60,000
- 60,000
10 AlISXAAEEHE 22X 120,000 113,600 6,400
Ol =XAIE X (SAT)
120,000,000& 120,000
Al 60,000
- 60,000
MO QIZEXIAIE (SAXE) SALA S X &= 550 350 200
Al 550
307 @I2t01 & 550 350 200
Al 550




FA I OoNel 1t
mm: Lol=y| A
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 550 350 200
OMIHcASTIAL(SAR) SXE =+
550,000 550
Al 550
WO ISXAILZ (SN SALK SEH| & 2lxt == 1,200 1,200 0
ct
Al 1,200
307 212+01& 1,200 1,200 0
Al 1,200
11 AMEISXAIEEXS 1,200 1,200 0
OMI=ISIIAL(SAR) SALL SEHI
2 22k =8 50,0003 x2&* 1201 2 1,200
Al 1,200
LoSXAE 838 & XH 2,556 2,55
202 0o4dl 1,29 1,296
01 2L AL 1,296 1,296
OLI=XIAIE SEXZA K|
10,0003 x2& 6 * 122 x00% 1,296
307 212+01& 1,260 1,260 0
1 ABIS XA EE 1,260 0 1,260
OLQI=XAIL B2uH X2
28,0002 ~45& 1,260
FJIRe|2 CCTVEXIHl XIJAS 116,600 0 116,600
= 58,300
Al 58,300
307 gl2to| & 116,600 0 116,600
= 58,300
Al 58,300
11 ARRIS XA E X 116,600 0 116,600
OFIILI2t CCTVAXIHl XI&AY
116,600,000 116,600
= 58,300
Al 58,300
e 29 2 3,360 3,360 0
201 er2 3| 3,360 3,360
01 At2teltl 3,360 3,360
OoFIIeEYIIA 2 2
70,0002 x4 x123] 3,360
OIS A 29 X 5,716,437 5,298,584 417,853
= 175,303
Al 1,954,358
- 2,454,412
= 1,132,364
A oIsI2t 29 X 1,332,065 1,281,778 50,287




FA I OoNel 1t
mm: Lol=y| A
el =2100I=X 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 634,695
T 676,125
= 21,245
201 fer=3| 1,920 1,440 480
02 s3=gHl 1,920 1,440 480
O3BAEE HEE+=+2
960,000 23] 1,920
307 lztol & 1,290,635 1,280,338 10,297
Al 634,695
- 634,695
= 21,245
10 Al2ISTIAIEEE 22X 1,290,635 1,280,338 10,297
O el=X2 23|
1,290,635,000& 1,290,635
Al 634,695
- 634,695
= 21,245
405 AHAHE S 39,510 39,510
01 AL =S F = 39,510 39,510
Olzg wEeNe 7
4,510,000 1CH 4,510
OXIOHHZ VRI1JI =+
35,000,000 * 14! 35,000
Fetol=sA2 238 A 706,087 614,322 91,765
Al 312,99
- 312,9%
= 80,097
307 @20l & 706,087 609,322 96,765
Al 312,9%
- 312,99%
= 80,097
10 Al SXAAEEHE 22X 706,087 609,322 96,765
OFsoIsX2 23|
706,087,000 706,087
Al 312,9%
- 312,99%
= 80,097
sxolsX2 29 X2 1,005,102 1,011,650 83,452
Al 344,014
- 344,014
= 407,074
307 elztol & 1,095,102 1,011,650 83,452
Al 344,014
- 344,014




FA I OoNel 1t
mm: Lol=y| A
el =2100I=X 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 407,074
10 Al SXAZEE 22X 1,095,102 1,011,650 83,452
OS2 23|
1,005, 102,000& 1,095,102
Al 344,014
- 344,014
= 407,074
COISAZ SAA X8 10,950 7,000 3,950
Al 9,300
= 1,650
307 212+01& 10,950 7,000 3,950
Al 9,300
= 1,650
11 AMEISXAEEE 10,950 0 10,950
OoIsR2(A=7, He, E5) SAX S
8= 10,950,000 10,950
Al 9,300
= 1,650
COISAZ SAHL SEAZZ & X2 5,200 3,400 1,800
Al 4,600
= 600
307 212+01™ 5,200 3,400 1,800
Al 4,600
= 600
11 AMEISXAEEES 5,200 3,400 1,800
OL Q=T T(4T &EH ET) AR 8
AZ2Z &8 X 5,200,000& 5,200
Al 4,600
= 600
oIS Sl & 2elhg AE 27,000 0 27,000
Al 23,400
= 3,600
307 @I2t01 & 27,000 0 27,000
Al 23,400
= 3,600
11 AMEISXAEEES 27,000 0 27,000
OLQI=X2 A S8l & 2t K==
M) XA 27,000,000 27,000
Al 23,400
= 3,600
ool =2t &AL A& 5,000 5,000 0
Al 5,000
307 lztol & 5,000 5,000 0
Al 5,000
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31,743
N8,825

MEE
Ofl &k2h
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10,000

10,000

6,800

6,800

6,800

12,500
12,500
12,500

38,000

38,000

38,000

160,012
142,697
137,747

Ofl &F2H

5,000

5,000
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10,400
5,200
5,200
10,400
5,200
5,200

10,400

Al

Al

Al

10,400
5,200
5,200
6,500
3,250
3,250
6,500
3,250
3,250
6,500

Al

Al

Al

6,500
3,250
3,250
45,000
45,000
45,000
45,000

38,000

Al

Al

19,000
19,000

38,000

Al

19,000
19,000
38,000
38,000

Al

19,000
19,000
219,325

174,440

128,922

- ESS

- SRA(E) - HIRAY
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D

| S XIAt
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11 Ak
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307 212t01™

I
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= XA
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11 At
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307 212t01™
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= XIA
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11 At
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307 212t01™
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FA I OoNel 1t
mm: Lol=y| A
e =elopi=EA 28 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ2d d=J| itz
22,0002 x 168 A x 12 44,352
OZZY ot Xt Ytz
49,5002 78 A+ 128 46,332
OZ2E =7 HE2 1,000,000 1,000
OZ2Y AR (HRERY) 37,238
od=zd =
3,000,000& * 104 Axx 12 36,000
oZEY X HEHHIE 1,237,200 1,238
02 s3=gHl 45,518 4,950 40,568
OZ2¢ &3 FaH
60,0003 * 1574 2=%12] 900
OFRY ®IIQHACA4E
70,0002 x15JH 2% 18] 1,050
O3z &IIF & NEEBI=AE=H
5,000,000& 5,000
OZ2¢ HeHIOIE FAI24=H]
88,0003 *30H A+ 122 3,168
Odzg del |RA2=H|
150,0002 * 118K 2= +2CH 35,400
301 EetE2 NS 14,885 14,147 738
03 A2 E A0S (XL THH) 14,885 0 14,885
OBzd N & K& 14,885
o 100m O]+ 683 % x47 1 2A+80 = 12 3,082
0200m 0]t 6832 *75H A= x100H* 123 6,147
0200m O &f 6833 *460H A+ 1501+ 123 5,65
406 J|EHA=01H 30,000 30,000
01 JIetAt=01d 30,000 30,000
O3z g1t 252 30,000,000 30,000
22Y 2Y XA (EZAY) 1,103,258 1,005,438 97,820
Al 292,666
- 292,665
= 517,927
201 fer= 3| 117,578 113,272 4,306
Al 58,789
- 58,789
01 At22t2l] 75,166 75,018 148
d2g SJIFE0| gxtg X&
54,766,000 54,766
Al 27,383
T 27,383
OZ2E oisdaAblL X
50,0003 #3404 2=+ 123 20,400
Al 10,200
- 10,200




or=x mm
eloiI=EX 28 N (St &)
SN - B - SRAS) - MRAR - BES A HIDE2
02 S5=g4l 42,412 38,254 4,158
OZ2Y PESH0II0| X AHSE X
23,1002 %153 A+ 122 42,412
Al 21,206
- 21,206
307 @12t0| & 985,680 858,956 126,724
Al 233,877
- 233,876
= 517,927
10 Al SXAEEHE 22X 985,680 852,720 132,960
OZ2g 2HI(AMHIEX)
985,680,000 985,680
Al 233,877
- 233,876
= 517,927
=g dudyl & =8 X2 449,576 445,667 3,909
= 175,303
Al 87,651
- 87,651
= 98,971
301 LELE NS 160,376 0 160,376
= 33,503
Al 16,751
- 16,751
= 93,371
01 Al EE AT Z(2RDEXR) 160,376 0 160,376
ogdzg 2= X& 160,376,000 160,376
= 33,503
Al 16,751
T 16,751
= 93,371
307 212t01& 289,200 437,405 A148,205
= 141,800
Al 70,900
- 70,900
= 5,600
10 Al SXAAEEHE 22X 289,200 437,405 A148,205
Odzg 4t X2 289,200,000 289,200
= 141,800
Al 70,900
T 70,900
= 5,600
2 0otEs Al X1 431,374 424,817 6,557




FA I OoNel 1t
mm: Lol=y| A
e =elopi=EA 28 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 197,587
T 232,587
= 1,200
307 @I2to| & 431,374 424,817 6,557
Al 197,587
- 232,587
= 1,200
10 Al SAAEEHE 22X 37,442 34,880 2,562
O3 Xs d2Y =2 X2 1 22|kt
=g N3 37,442,000 37,442
Al 18,121
- 18,121
= 1,200
11 AMISXAIEEX 393,932 389,937 3,995
O3zg KItEal 25 Ar|
358,932,000 368,932
Al 179,466
- 179,466
OZ=2¢ MIIEs g9zt
35,000,000& 35,000
Mg 22 24 30,000 30,000 0
Al 15,000
- 15,000
401 Al HIZ R OHHI 20,000 20,000 0
Al 10,000
- 10,000
01 Al&H| 20,000 20,000 0
OZ=2¢ =ZHet| 20,000,000 20,000
Al 10,000
T 10,000
405 AtatE = 10,000 0 10,000
Al 5,000
- 5,000
01 ML ESFSHI 10,000 0 10,000
d2g 23 78 A& 10,000,000 10,000
Al 5,000
- 5,000
KNESANEE EsHl X 201,600 97,200 104,400
307 lztol & 201,600 97,200 104,400
11 AMEISXIAEEES 201,600 97,200 104,400
OXSSAX R gstl X
100,000 *12& x1687H 2 201,600
QAR HHEH XA 94,296 74,353 19,943
QZFAL A2l S S AFE KT A 94,296 74,353 19,943




FA I OoNel 1t
mm: Lol=y| A
Che: BIZHALSI S E G K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 94,296 74,353 19,943
02 2B YA HE L 15,915 17,648 A1,733
Oligt=0lg] Ha2X3l 2SAY A&
15,915,000& 15,915
03 PIZAHHEE 22X 53,361 40,505 12,8%
OUgt=0lg] Ha22X3 2|
53,361,000 53,361
11 AMEISXAEEES 25,020 16,200 8,820
OZ=29 g 2gdl N2 16,800,000 16,800
OF2Y % Y38 29
8,220,000& 8,220
colgitel 19,166,931 17,913,043 1,253,888
= 8,416,266
Al 4,876,991
- 5,856,334
= 17,340
colgiiel ¥& 19,166,931 17,913,043 1,253,888
= 8,416,266
Al 4,876,991
= 5,856,334
= 17,340
i‘)&l%ﬂal U ASIBEND HOU(COIAMBES TIRA 17,383,790 16,306,805 1,077,985
&
= 7,940,620
Al 4,347,185
- 5,005,985
101 @1A4H| 1,313,650 1,313,650 0
= 656,825
Al 328,413
- 328,412
MU IIRIMZZENSES 1,313,650 1,313,650 0
O QA ES KA (FAT 48 o12AH|
s) 1,313,650,000& 1,313,650
= 656,825
Al 328,413
- 328,412
201 eer23y| 34,400 34,400 0
= 17,200
Al 8,600
- 8,600
01 At2teltl 17,200 17,200 0
OLQIMNBIEE XA (RRELE H |
s) 17,200,0002 17,200
= 8,600




SN LoIZ0felD
M colgitel
Rl =l Riel 2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,300
T 4,300
03 A=Y 17,200 17,200 0
OLQABIZE NBAY (PR 2518
AH) 17,200,000 17,200
= 8,600
Al 4,300
- 4,300
301 LEtE N = 6,450 6,450 0
= 3,225
Al 1,612
T 1,613
11 dAMEEIXIE S 6,450 6,450 0
OLOIABIZE TIRAY(FRE S8 2ES
HIEg S) 6,450,000& 6,450
= 3,225
Al 1,612
T 1,613
307 el2to| & 16,029,290 14,951,305 1,077,985
= 7,263,370
Al 4,008,560
T 4,757,360
11 AMEISXAEEES 16,029,290 14,951,305 1,077,985
OLQIABIZE TR (S8|2)
14,526, 740,000& 14,526,740
= 7,263,370
Al 3,631,685
- 3,631,685
OSEAE IO 645,750,000& 645,750
Al 322,875
- 322,875
OAZEAE FOHKIE 108,000,000 108,000
Al 54,000
- 54,000
OZ2YSA 0] AAHH FHIZ=Ot
748,800,000 748,800
Coldxiel ¥ ARESKIE Si(eLXiel Mgl 980,118 862,368 117,750
X&)
= 475,646
Al 252,236
- 252,236
307 elztol & 980,118 862,368 117,750
= 475,646
Al 252,236
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10 Al SXAZEE 22X 980,118 862,368 117,750
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951,291,000 951,291
= 475,646
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= 237,823
OLoIgRte] +3DI2 M2 0I2iy| =
I 28,827,000 28,827
Al 14,414
- 14,413
colgiel®gl2 249 X2 607,953 592,292 15,661
Al 168,620
- 421,993
= 17,340
307 212+01& 607,953 592,292 15,661
Al 168,620
T 421,993
= 17,340
10 Al SXAEEE 22X 602,673 579,3%2 23,281
O Qlelsi e 23|
601,473,000 601,473
Al 164,920
T 419,213
= 17,340
O Qlols e 22|kt =&
1,200,000 1,200
Al 1,200
11 AMRISXAEES 5,280 12,900 AT,620
OHEAILIN 2dusT2 08 24|
5,000,000& 5,000
Al 2,500
T 2,500
OAtRIS A B2 0S|
28,0002 %104 280
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Al 38,800
- 38,800
307 212+01& 77,600 70,800 6,800
Al 38,800
- 38,800
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OLolgitels=gl|2t A2 X
77,600,000& 77,600
Al 38,800
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309,711

299,586
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309,711
309,711

W

10,093

5,047
2,523
2,523

10,093

10,093
5,047
2,523
2,523

10,093

10,093
10,093
5,047
2,523
2,523

10,093

62,657
50,126
12,531

7,739

62,657
50,126
12,531

71,739

W

62,657
62,657
50,126
12,531

71,739

Al

2,500
1,250
1,250

3,000

Al

2,500
1,250
1,250

3,000

Al

2,500
2,500
1,250




od
i’
oF
uJ

> > 8 & & 13} e e e S 8 S
Ye] Ye) (o) © © O (@} (@) o
- M M, 3 - - - o o o
Klo
E
E=]
& & < N\ N N g = = o o o
! ! o o o3 S S S
e =] e =] =] © © ©
LH3r
LiEd
RIS
AN S 38838 S SSIFIEEIFIEEIS I EESS S SIE8 83 38 S 88 8|18 8 8|18 8 8|8
ANN]J]oO OO OO O O | O O O OO O Ol O oo O O OO NN OO OO NN O O»O|o O AN OO OO O© Ol O Oo|Oo
|6 QA6 A A 6 A d|d S S|lad S Slad oS S|S < S < S O < S < <|D & <|0
al
<
=3
+ < < < < = < =< r =< r =< r < <+
G| | |
3 3 8
o 2 3 g
j—n Yo} Al © -
] = o
5 = =
o0 O — —_ 10
ol R R e o R
- - 30 x
: 30 = .
| |z o T K 40
TA - —_ —_—
. _ & o ! RN or
= o w5 a 52 fr 0o o R
= 2 o < qo O 0d w2 ] i
o al m < 4 - n = = m = 20 o
= gl B AL Rl i0J o0 ! il 153
oF D + 5 wﬂ_ ) = K Uy " Po F
3 J] o o= il ujo = e o gr o Bt o Rr
. AL pd O ~ = ujp U0 _w:__ z) K S ul ) K0
= = iy H o ) Ul A o iy I RO = iy iy
0 2 ) o S THr = N S ) o o] X0 5 o ol
R = oll < RO ujo = Mo RO = ol =3 = ol <
. ol 5 N O ol ee] - O K0 5 pa O K0 5 N
X .ru% l9p) .ru% lap) X0 l<p) K0 l<p)
I &o KO = Ko




2A:

. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZHML NPBEES
8,000,000& 8,000
Al 4,000
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SN COIFORQI Dt
. ZOje =X S8
Chel: ZOHQlMEOrA X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 49,800
301 EtE NS 49,800 49,800 0
Al 49,800
03 ALl 2 & A 263 (XL E) 49,800 0 49,800
Okl eIz oel JIHA X2 AL
49,800,000& 49,800
Al 49,800
QIZEALSI S HIE G X & 82,878 77,993 4,885
QIZFALSI S HISI S AL X2 82,878 77,993 4,885
307 elztol & 82,878 77,993 4,885
02 2IZHBHAIAE & 52,585 49,534 3,051
OZONAIER Al 2x
52,585,000& 52,585
03 PIAHHEE 22X 30,293 28,459 1,834
OZOHIEM HE=3Hl 2
30,293,000 30,293
ZOoHe!l LXitel X 20,539,320 17,184,273 3,355,047
= 13,169,370
Al 3,712,346
- 3,657,604
ZOoHId el X& (ML ML Rtel) 922,696 849,228 73,468
= 461,348
Al 230,674
- 230,674
101 21A4H| 922,696 849,228 73,468
= 461,348
Al 230,674
- 230,674
MU IIRIMZZENSES 922,696 849,228 73,468
Ol MeAl LAtel At
922,696,000 922,69%
= 461,348
Al 230,674
- 230,674
o LR X (SXLRel) 350,944 302,672 48,272
= 175,472
Al 87,736
- 87,736
101 @124H| 282,964 244,712 38,252
= 141,482
Al 70,741
- 70,741
M ORIMZZ2NSE S 282,964 244,712 38,252
OFE SXLRtel 282,964,000 282,964




SA I OoNel 1t
Mz Fofel =X SA
ol ZoHe! el XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 141,482
Al 70,741
- 70,741
201 2= 490 0 490
= 244
Al 123
- 123
01 AtS2t2ltl 490 0 490
O tel 88 HEAE =&
490,000 490
= 244
Al 123
- 123
307 212+01& 67,490 57,960 9,530
= 33,746
Al 16,872
- 16,872
11 AMISXAIEEX 67,490 57,960 9,530
OS=us-SXHAE SXLAtel
67,490,000 67,490
= 33,746
Al 16,872
- 16,872
ZOHQI L Kt  XI& (AR Rt2l) 288,412 234,528 53,884
= 144,206
Al 72,103
- 72,103
101 @12A4H| 288,412 234,528 53,884
= 144,206
Al 72,103
- 72,103
MU IRINZZENSE 288,412 234,528 53,884
O AL Xt I%(/\I ZHRI2 Rtel)
288,412,000 288,412
= 144,206
Al 72,103
- 72,103
oL X2 X (Sat L tel) 127,75 104,800 22,956
= 63,878
Al 31,939
T 31,939
307 elztol & 127,756 104,800 22,956
= 63,878
Al 31,939




SN COIFORQI Dt
= Zojel =X s
chels ZoHel 2Xtel XA (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 31,939
11 ARRIS XA E X 127,756 104,800 22,956
YLRYOI RIS AL BEAT2
127,756,000 127,756
= 63,878
Al 31,939
- 31,939
ZOHIAKeIXR (SSHML AEE LX) 16,058 15,362 6%
Al 8,029
- 8,029
307 212t01& 16,058 15,362 696
Al 8,029
- 8,029
11 AMEISXAEEE 16,058 16,362 696
OS&Me & XLl
16,058,000& 16,058
Al 8,029
- 8,029
oIS A2 17,414,739 14,776,761 2,637,978
= 12,187,966
Al 2,611,707
- 2,615,066
201 fer23| 3,360 3,360
01 AtR2t2|HI 3,360 3,360
HHIESXE +==A342ARE e ?I&
=g 70,0003 x4 x 122 3,360
308 AXIHMSO0IA 17,411,379 14,773,401 2,637,978
= 12,187,966
Al 2,611,707
- 2,611,706
1 S 2S0UetE4EAS AL S| 17,411,379 14,773,401 2,637,978
OHMHUESEXIXE At
17,411,379,000& 17,411,379
= 12,187,966
Al 2,611,707
- 2,611,706
oIS KA A0t 1,143,620 703,068 440,552
Al 571,810
- 571,810
308 XtXIEMSO0IE 1,143,620 703,068 440,552
Al 571,810
T 571,810
11 SIS0t oA AS A 1,143,620 703,068 440,552




2A:

. ZOje =X S8
ol ZoHe! el XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZHNY EEZZAL(ATHIZ)
1,143,620,000& 1,143,620
Al 571,810
- 571,810
o SKA Jhbk=0 140,009 56,994 83,015
= 98,007
Al 21,001
- 21,001
308 AXIHS0IA 140,009 56,994 83,015
= 98,007
Al 21,001
T 21,001
11 SIS0t HAS A 140,009 56,994 83,015
Ol asEE JHtaEH
140,009,000 140,009
= 98,007
Al 21,001
T 21,001
OIS KA SetAZH 8| X3 56,000 56,000 0
Al 56,000
307 elztol & 56,000 56,000 0
Al 56,000
1 AMISXAIEEX 56,000 56,000 0
OZMASSKHA SetAZBH & XA
56,000,000 56,000
Al 56,000
ST SSAHLEANEA 2SAH 76,986 84,360 NT,374
= 38,493
Al 19,247
- 19,246
307 elztol & 76,986 84,360 NT,374
= 38,493
Al 19,247
T 19,246
11 AMEISXAEEES 76,986 84,360 NT,374
O S=LEeAldlA 28 K&
76,986,000& 76,986
= 38,493
Al 19,247
- 19,246
ST SSAHTULEAMEIA SAHL XS+ X 500 300 200
Al 500
307 212+01& 500 300 200
Al 500




2A:

. ZOje =X S8
el Zojel Xl XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 500 300 200
O SSAHLEAHIA SALAL =
A8+ & 500,000 500
Al 500
ST SsSAILEHAHIA 400 200 200
SAtA SeH2Z3 8| X2
Al 400
307 212+01& 400 200 200
Al 400
11 AMEISXAIEEXS 400 200 200
OSSHMe SSAHLEAMEIA SALA S
sAZF &l X 400,000 400
Al 400
ST SSAHALHAHHIA SAEL S XJ 1,200 0 1,200
Al 1,200
307 glztol & 1,200 0 1,200
Al 1,200
11 AMISXAIEEX 1,200 0 1,200
OSSHM SSHHLEAMEIA SAL 2
2l K& 1,200,000 1,200
Al 1,200
ol SXAE EX sa 187,472 97,404 90,068
Al 58,003
- 129,469
0Nl SIS i 34,440 35,252 AB12
201 223 34,440 36,252 AB12
01 AtR2t2lt] 14,040 14,040 0
OHOfQI=AIES B0 M=
70 *20, 0000 *90% 1,260
OO XSIH HAI M=
1,10024%2,0000H*90f% 1,980
OO BEFAFSH 24 F2 MRES
- 12,000,000 *90% 10,800
02 3224l 20,400 21,212 AB12
OLltthg RER= 1,700,000& «12& 20,400
ZoHe! B X 2,592 2,952 A360
201 er2&| 1,260 1,404 A144
01 At2teltl 720 864 A4
OQEJANELX] =2+
30,0003 x2& 1L« 12 720
02 S3=gHl 540 540 0
OZ232= 2 HMAl 45,0003~ 10+ 122 540
202 04| 432 648 A216
01 =LHO LI 432 648 A216
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A R==t P10 ReTi
X

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 14,800
ZOHA=XAIE K2 6,681 299,702 A293,021
JOHASXAILRE & LA 6,681 7,702 1,021
202 04| 864 648 216
01 2LHAH| 864 648 216
OSXAIE SEZACEI
10,0003 » 12 +82 %122/ x00% 864
301 LEIE NS 3,750 3,750 0
02 A2 EH LGS (FHAAHS, NLWE) 3,750 0 3,750
OHMHANFAIE 22
30,0002 x 12512 3,750
307 el2to| & 2,067 3,304 1,237
1 AMISXAIEEXS 2,067 0 2,067
OAteIS XA E4=1=H] XA
16,8002 123 2,067
HUI=XAE 2 9,789,969 8,197,384 1,592,585
= 2,853,814
Al 5,725,987
- 1,195,368
= 14,800
ZOHIHFAIE 2 K& 3,654,879 3,458,243 196,636
= 2,558,415
Al 1,006,464
307 el2to| & 3,654,879 3,458,243 196,636
= 2,558,415
Al 1,096,464
10 AlRISXAZEHE 22X 3,654,879 3,458,243 196,636
OFLAN=AIE 23 K&
3,654,879,000& 3,654,879
= 2,558,415
Al 1,096,464
O H=AIE SIIEED| dE X 4,320 4,320 0
= 2,592
Al 1,728
307 elzto| & 4,320 4,320 0
= 2,592
Al 1,728
1 AMISXAIEEXE 4,320 4,320 0
OFMIAFAIE SITIEED| &g X
4,320,000 4,320
= 2,592
Al 1,728
ZOHRIAHFAIE JISEH 222,662 0 222,662
= 111,331




SN LCoIZ0felD
. ZU=XAE Seacl & X3
el U= XIAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 111,331
402 2I2FX=01 & 222,662 0 222,662
= 111,331
Al 111,331
02 RIINEASEZ(0IETHR) 222,662 0 222,662
OZMAANFAIE JIS2S
222,662,000 222,662
= 111,331
Al 111,331
AN ARkt 2HHY| 32,638 30,000 2,638
Al 16,319
- 16,319
307 @20l & 32,638 30,000 2,638
Al 16,319
- 16,319
11 MBI = XA 2 X 2,63 30,000 2,638
OSSR 2|
32,638,000 32,638
Al 16,319
- 16,319
ZOHRIAFAIE NEMSEZISBAIY K& 20,000 20,000 0
Al 10,000
- 10,000
307 el2to| & 20,000 20,000 0
Al 10,000
- 10,000
1 AMISXAIEEX 20,000 20,000 0
OZOMANFAIE NEHEZZ DBAIEX
el 20,000,000 20,000
Al 10,000
- 10,000
ZOHQ! JHRIM DAY 29 88,154 73,610 14,544
Al 44,077
- 44,077
307 elzto| & 88,154 73,610 14,544
Al 44,077
- 44,077
10 AlRISXAZEHE 22X 88,154 73,610 14,544
OZO0HQ! JHIAM DAL 2E
88,154,000 88,154
Al 44,077
- 44,077
JOHUNFAIE SAL X8+ & SEAZZ 8| A 28,250 19,700 8,550

&




2A:

M HOHQI=XIAE Setel & XE
Rl ZoHISXAIE 29 (SH9 H2)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
Al 28,250
307 gI2Hol M 28,250 19,700 8,550
Al 28,250
" ASI=SXAIEEE 28,250 19,700 8,550
OFOHRHFAIE BALL SXE L &
A2Z &l XI& 28,250,000 28,250
Al 28,250
ZOHLINFAIE 298 N 52 67,473 67,473 0
= 47,231
Al 20,242
307 QI2tol M 67,473 67,473 0
= 47,231
Al 20,242
1 ARRI=EXAIEE X 67,473 67,473 0
OHOUMLAHFAIE 2 N FL=E
67,473,000 67,473
= 47,231
Al 20,242
ZOHRIHFAIE SAL LSE2&EH| 179,845 66,831 113,014
Al 179,845
307 gIzHol 179,845 66,831 113,014
Al 179,845
" A =XAIEE X 179,845 66,831 113,014
OZOHRIHFAIE SALAL = E2XH|
179,845,000 179,845
Al 179,845
ZOHRIHFAIE SAL S8l ¥ 2elki=Z 45,000 45,600 2600
Al 45,000
307 2I2+0l ™ 45,000 45,600 AB00
Al 45,000
1 ARI=SXAIEE X 45,000 45,600 AB00
OHXOCIHFAIE SAHAH SSHI & 22|kt
=g 45,000,000& 45,000
Al 45,000
ZOHCIHF=AIL 0T AIEE SSAIY 28d] XA 304 0 304
= 213
Al 91
307 gIzHol ™ 304 0 304
= 213
Al 91
1 ASI=SXAIEEES 304 0 304
OZOIHFAIE |oT AIEE SSAIY 23|
X 304,000 304
= 213




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 91
e SHIOIHFAIE 2 501,146 438,876 62,270
Al 250,573
- 250,573
307 212+01& 501,146 438,876 62,270
Al 250,573
T 250,573
10 Al SXAEEHE2EHI2x 501,146 438,876 62,270
OO EDIHF=AIE 29F
501, 146,000& 501,146
Al 250,573
- 250,573
ZOHR! EIIHZFAIE SANL SAE 2,700 1,600 1,100
Al 2,700
307 elztol & 2,700 1,600 1,100
Al 2,700
11 AMEISXAEEES 2,700 1,600 1,100
OOl SIIHFAIE SAL SXE =+
2,700,000 2,700
Al 2,700
ZOHQ EIIHFAIE BAA SEAZZEHl XA 1,200 600 600
Al 1,200
307 gl2to| & 1,200 600 600
Al 1,200
11 AMEISXAEEES 1,200 600 600
OOl EIIHFAIE SAHAL Setdd3d
Bl XI& 1,200,000 1,200
Al 1,200
ZOHe! EIIHFAIE SAHL SEHI 6,000 6,000 0
Al 6,000
307 @I2t01 & 6,000 6,000 0
Al 6.000
11 AMEISXAIEEXS 6,000 6,000 0
OHOHl SHIIHFAIE SALL SEHI
6,000,000& 6,000
Al 6,000
el SSdEIHE =29 365,686 300,928 54,758
Al 177,843
- 177,843
307 gl2to| & 365,686 300,928 54,758
Al 177,843
- 177,843
10 AlISXAZEE 22X 365,686 300,928 54,758




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
OBNIBESEINY 2
365,686,000 365,686
Al 177,843
- 177,843
el SSHEINE SAL SXE =+ 1,500 1,000 500
Al 1,500
307 elztol & 1,500 1,000 500
Al 1,500
11 AMRISXAEEES 1,500 1,000 500
O SSHEIE SAL SXE =+
1,500,000 1,500
Al 1,500
Z0HQ SSHEIIE BAA SEAZZAHl XA 800 400 400
Al 800
307 gl2to| & 800 400 400
Al 800
11 AMEISXAEEE 800 400 400
OZWABSMEIIY BAX BHAYLX
Hl XI& 800,000 800
Al 800
Z0He! SSHEIE SAL SEHI 3,000 3,000 0
Al 3,000
307 @I2t0| & 3,000 3,000 0
Al 3,000
11 AMEISXAIEEES 3,000 3,000 0
OTHQ! SSMEIIE SAR Sl
3,000,000 3,000
Al 3,000
ZOL=XAIE JIMAES X 44,676 43,362 1,314
307 elztol & 44,676 43,362 1,314
11 AMEISXAIEEXS 44,676 43,362 1,314
OJIHHES N
6003 *3IH*365 L «68L 44,676
HoHel X (IL)AE X 211,306 156,666 54,640
= 64,332
Al 75,287
- 71,687
307 gl2to| & 211,306 156,666 54,640
= 64,332
Al 75,287
- 71,687
10 AlRISXAIEEHE 22X 211,306 156,666 54,640
Oyl MtEd(IL) JE X
211,306,000 211,306




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 64,332
Al 75,287
- 71,687
ZoHel NHdsuy o FH(HES) SAL S8+ 2,300 1,400 900
Al 2,300
307 gl2to| & 2,300 1,400 900
Al 2,300
11 AMEISXAEEES 2,300 1,400 900
OHONY TBMEBHE L FH(RFE) BA
A =X 8= 2,300,000& 2,300
Al 2,300
ZoHel NdEdy & FH(HES) SAL SEgA2 1,200 1,200 0
88 X
Al 1,200
307 212+01™ 1,200 1,200 0
Al 1,200
1 AMEISXAIEEXS 1,200 1,200 0
OSSHMUNEHLEEHH - MEE SAHA
SeAZZ Al N 1,200,000& 1,200
Al 1,200
ool MEdeFH(HEE) 29 N2 51,852 43,000 8,852
Al 26,226
- 25,626
307 @120l & 51,852 43,000 8,852
Al 26,226
- 25,626
11 AMRISXAEEES 51,852 43,000 8,852
OZoH NHEdEFH(MES) 28 N
51,852,000 51,852
Al 26,226
T 25,626
ool e ItEdEFE(HEE) 29 X2 149,400 159,000 29,600
Al 149,400
307 elztol & 149,400 159,000 29,600
Al 149,400
1 AMISXAIEEXE 149,400 169,000 29,600
OFoje! ety de=a(Mes) 24 X
el 149,400,000 149,400
Al 149,400
gojelsxa =249 1,838,609 1,618,566 220,043
Al 1,838,609
307 elztol & 1,838,609 1,618,566 220,043
Al 1,838,609
10 Al2ISTIAEEE2HIEX 1,770,809 1,561,013 209,7%6




2A:

. ZU=XAE Seacl & X3
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oZouesi2 24 1,770,809,000& 1,770,809
Al 1,770,809
11 AMEISXAEEES 67,800 57,553 10,247
OHUeI=sA2 SSHMHL AUSS X2
35,400,000& 35,400
Al 35,400
OHI=X2t SALL SXE=
8.,800,000& 8,800
Al 8,800
O =X2t SALL S8 8H| XI&
3,800,000& 3,800
Al 3,800
OFOQI=XZ SAK S| ¥ 224
g 19,800,000 19,800
Al 19,800
R =UESAIE 2 843,882 627,748 216,134
Al 591,855
- 252,027
307 212+01& 843,882 627,748 216,134
Al 591,856
- 252,027
10 Al SXAEEHE2EHI2x 816,482 622,898 193,584
O F=U2SAIE 29
816,482,000& 816,482
Al 564,455
- 252,027
1 AMISXAIEEX 27,400 4,850 22,550
O F=UESAIE SAL SXNE+
6,200,000 6,200
Al 6,200
Ol =UHESAE SAHAL SeAZHd
Bl X 2,600,000& 2,600
Al 2,600
Ol =UHESAE SAHAL S&dl & 2
clAt==E 18,600,000& 18,600
Al 18,600
T8 JUFAUESAIE 2 384,810 292,479 92,331
Al 164,575
- 205,435
= 14,800
201 er23| 40,860 39,405 1,455
01 At2teltl 40,860 39,405 1,455
O—78 Hifel=AEsdH LU=
40,860,000 40,860
307 @120l & 343,950 253,074 90,876




A =QIE0HRI Dt
REH
o e

>
iz
b
i
£
!
o
=
e

S{U LN Sgacl &
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 164,575
T 164,575
= 14,800
10 Al SXAEEE 22X 343,950 253,074 90,876
OFE HJF=AESAIE 2|
343,950,000 343,950
Al 164,575
- 164,575
= 14,800
el F=UESAIE JIsE2ES 9,800 0 9,800
= 4,900
Al 2,450
- 2,450
402 2I2F X201 & 9,800 0 9,800
= 4,900
Al 2,450
- 2,450
02 QI A2 AL E R (0IETHE) 9,800 0 9,800
OOl FALBAM ISy
9,800,000 9,800
= 4,900
Al 2,450
- 2,450
0l MIOtSAHE =29 193,996 165,8% 28,101
Al 193,99
307 glztol & 193,99 165,89 28,101
Al 193,99
10 Al SXAEEE 22X 190,696 164,745 25,951
Ol MHIt=XHE 29
190,696,000 190,696
Al 190,696
1 AMISXAIEE X 3,300 1,180 2,180
OZONQ! THOI=SXIME SAHG SXE
900,000 900
Al 900
OO0 THIH=SXIHE SAEL SEHAZa8d
bl X1 600,000 600
Al 600
OFHe! MIII=XIHE SAHL SEHI
1,800,000 1,800
Al 1,800
el SE2SAME =4 192,910 170,370 22,540
Al 98,255
- 94,655




2A:

ZH: FfRISTAL Sene L T2
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 192,910 170,370 22,540
Al 98,255
- 94,655
10 Al SXAEHE2EHIEX 189,310 169,320 19,990
QTR EE2EAY 29
189,310,000 189,310
Al HA,655
- HA,655
11 ABI =S XA X 3,600 1,050 2,550
OZOR! SH2SAIY BAT SXH~
1,000,000& 1,000
Al 1,000
OZ0Q EH2EAS SAHA S22 d
a] 200,000& 200
Al 200
OXOCl SLE2EAIE SAHA S|
2,400,000& 2,400
Al 2,400
ZHOHR! HATHEAIE 29 433,671 379,517 54,154
Al 433,671
307 212+01™ 433,671 379,517 54,154
Al 433,671
10 IS SXAIEHE2ZHIER 424,621 377,517 47,104
OZOe HATHEANE 22 XA
424,621,000 424,621
Al 424,621
11 AR SXAMEE R 9,050 2,000 7,050
OZTOHR! HNHMEAIE SALA SXRE
2,250,000& 2,250
Al 2,250
QXL HATHEAIE SAHA S22 E
gl XI& 800,000 800
Al 800
OO HATHEAIE SAHA SHl 2 2
EIPAESS ,000,000& 6,000
Al 6,000
ZOoHe! SISTHEIANIAL JISEZ 216,000 0 216,000
= 64,800
Al 151,200
402 QI+ Rt=01H 216,000 0 216,000
= 64,800
Al 151,200
02 QIR AL B (01 & THEA) 216,000 0 216,000
OIS THEAIE JISEH
216,000,000& 216,000




A R==t P10 ReTi
X

. ZU=XAE Seacl & X3
el U= XIAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 64,800
Al 151,200
A2 ZHI(= A HO0HI ) 83,694 77,053 6.641
= 14,413
Al 7,207
- 62,074
Jl22HI(-elZoqelnt) 83,694 77,053 6,641
= 14,413
Al 7,207
- 62,074
Jl2Zdl HISAR (el Zofelmt) 47,425 40,240 7,185
201 Ler23| 26,809 24,376 2,433
01 At2teltl 26,809 24,376 2,433
Oget+=ZHI 54,5903 x232 » 12«00k 13,561
o=l 8,000 »23H 641 x 122 13,248
202 04| 16,416 11,664 4,752
01 =LHOLI 16,416 11,664 4,752
O£&0it| 10,0003 » 19«8+ 122 9% 16,416
203 HR=H] 4,200 4,200
M EA2ER=AH 4,200 4,200
ORNEgE =AY 350,000& 12 4,200
oE2AZHI(dite] Mges) 36,269 36,813 ~b44
= 14,413
Al 7,207
T 14,649
101 @124H| 34,116 34,765 2649
= 14,413
Al 7,207
- 12,49%6
02 JIEtM = 34,116 34,765 2649
OAIZIEERZIINS A '0H'a 212t|
34,116,000& 34,116
= 14,413
Al 7,207
- 12,496
204 ARt AH| 2,183 2,048 105
02 Ma2xH| 1,628 1,523 105
OAMZESRHAIIMSFE 'OH'E H32X
af 135,620&* 12043 1,628
03 S3g =3l 525 525 0
OAZESHAI ISR 'Ot's Hegs
] 43,7503 * 1204 525




H & 0l & AHS B Ml A

od
i’
oF
uJ

-

KIO

Hlw

4,292,678

2,794,793

N220

A220
A250

MEE
Ofl &k2h

47,765,010

7,265,105

900
900
900

9,470

1,490
1,490
1,490

3,370
3,370
3,370

1,800

3,710
3,110

Ofl &F2H

52,057,688

31,434,004

1y

415,837
10,059,898

6,154,445

8,119,053

1,243,293
10,845,501

Al

fir

9,250
900
900
900
900

1,490

1,490

1,490

1,490

1,400

2,766,868
1,138,585

Al

3,370
3,370
3,370
1,470
1,200

270
1,200

700
3,490
2,860
1,800

900

- ESS

- SRA(E) - HIRAY

S - B

Kl
KIo

r
0

2|

o
[uind

JGIDN

[=]

PN

KJ
KF
ok
ol

ulo
H0
X0

1,000,000 *90%

01 AFS2t2ltl

30
OH

o
i

ulo
B0
X0
o0

|
20,0003 x5 +90%
|
|

2

5

3

300, 0002 %4
300, 00021 +90%
300, 0002 %4

70,0002 *10E+2

=5 R

=

01 AF2-2t2ltl

-

3+

o}
oFJ
oF

0
00
30
gl
70

5

1,000,000 *90%

70,0003 x5 #2

Al EE=S M

01 AtR2telb]

oAl e & 2

e At

1,310 A250

900
1,060
500
500
560

3

3

250,000 %2

300,000 +3

]

H

f=1

[s1

03
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2A:

X XH -
o=

Rl 010 OHABH CAIBE XA (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 450 0 450
OOHMRIZH AES |XE4
500,000 *90% 450
=5 oY Alg X 1,000 2,000 21,000
201 Zet=3h] 1,000 2,000 21,000
01 AtR2t2|HI 1,000 2,000 A1,000
O=HF olg Al X 1,000,000& 1,000
Z40lo e s & N& 24,463 24,463 0
= 17,124
Al 7,339
JHEES Dot n3XE ALY 15,000 15,000 0
= 10,500
Al 4,500
307 elztol & 15,000 15,000 0
= 10,500
Al 4,500
1 ABIZXIAEE 15,000 15,000 0
ONEZ Il DEXR A
15,000,000& 15,000
= 10,500
Al 4,500
JHEES Lokt XZ2S AFY 9,463 9,463 0
= 6,624
Al 2,839
307 elzto| & 9,463 9,463 0
= 6,624
Al 2,839
1 AMEISXAEEXS 9,463 9,463 0
ONEZS WK AREI= A
9,463,000 9,463
= 6,624
Al 2,839
e 88 25 183,505 161,287 22,218
= 70,640
Al 112,865
JHEZE A A SAA X 42,225 34,905 7,320
Al 42,225
307 @I2t01 & 42,225 34,905 7,320
Al 42,225
11 AMEISXAIEEXS 42,225 34,905 7,320
OJIEZ84EA =28 N
30,456,000 30,456
Al 30,456




2A:

BH: ol =X B
@2l (g B8 B (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O EZAHAMNGA BAH 2XES(HRMA
) 1,050,000 1,050
Al 1,050
O ZHAS A SALA SetA22 84| X
(MM 200,000 200
Al 200
OJIAZSEAS A SAIA =2H| & 22| &t
== 3,600,000& 3,600
Al 3,600
O ZH AT A SALA A7E ZHIAIA
ANZ2HA=S (ML) 6,919,000& 6,919
Al 6,919
=8 MEA 2Y 141,280 126,382 14,898
= 70,640
Al 70,640
307 21Z2to| ™ 141,280 126,382 14,898
= 70,640
Al 70,640
10 AISIS XA EHAESIHIEX 141,280 126,382 14,898
ONE=8 4L 29 141,280,000 141,280
= 70,640
Al 70,640
MAS SRS MEotH X 3,632,453 3,139,604 497,849
= 2,785,562
Al 771,641
- 75,250
SIREZ2IIE AHH2=H S K& 3,458,038 2,939,595 518,443
= 2,766,430
Al 691,608
301 LEtEX 2 3,458,038 2,939,595 518,443
= 2,766,430
Al 691,608
01 AIBIEX X462 (ZDEEXZME) 3,458,038 2,939,595 518,443
O0t=2=H| XS (SE2IIE)
3,254,938,000& 3,254,938
= 2,603,950
Al 650,988
OZFIl OIS2EH| XK (BHREL2I1E)
185,400,000& 185,400
= 148,320
Al 37,080
O0t=sEH(ZE0M s2Ed|) X|(stE2
=) 9,300,000& 9,300
= 7,440
Al 1,860
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2A:

X XH -
o=

&l HAS SR2IHE MEotE X (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| | > 30,000
SIRE JIE SXAE 29 801,299 733,259 68,040
= 35,220
Al 765,883
- 19%6
SIIE=NAE XA 404,235 351,023 53,212
Al 404,123
- 112
307 gI2tol ™ 404,235 351,023 53,212
Al 404,123
- 112
10 IS SXAIEHE2ZHIEX 404,123 351,023 53,100
F22MomKids 2 404,123,000 404,123
Al 404,123
11 Al =XAMEES 112 0 112
OABIEXA E1=H] XA
28,0003 +4H 112
DIER2XIE EXAE XA 330,664 264,367 66,297
Al 330,580
- 84
307 212+01™ 330,664 264,367 66,297
Al 330,580
- 84
10 Al S XA EEHE2IHIE X 330,580 264,367 66,213
O=ZLIzIe & 2% 330,580,000& 330,580
Al 330,580
11 Al =SXAMEES 84 0 84
OA2I=XAL E+10SH| X3
28,0002 x3Z 84
AMNEUATIASXIZ XA (SR 2IIESRIAIA) 22,000 18,480 3,520
= 11,000
Al 11,000
307 2I2+01A 22,000 18,480 3,520
= 11,000
Al 11,000
" ASI=SXAIEEE 22,000 18,480 3,520
OANELATAER 2K (SHE2IIFEX
AlE) 22,000,000 22,000
= 11,000
Al 11,000
AMEOIOISEMEIAXIRA (SR 2IIESRIAIA) 34,600 23,425 11,175
= 24,220
Al 10,380




fA: odots
33 g =X &
el BR2 IS SXAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 34,600 23,425 11,175
= 24,220
Al 10,380
11 AMEISXAIEEXS 34,600 23,425 11,175
OAIE0I0ISSMUIAXIR (BHR2IIE=X
A&) 34,600,000& 34,600
= 24,220
Al 10,380
SIRL2IIE SXAE SAR SXRIE (HRLME) 2,200 1,400 800
Al 2,200
307 gl2to| & 2,200 1,400 800
Al 2,200
11 AMEISXAEEES 2,200 1,400 800
OtRR2IIE SXAE SAHL SX A&
2,200,000& 2,200
Al 2,200
SREIIE SAAIE SALL SEFEH XJ (MM 400 400 0
)
Al 400
307 212+01™ 400 400 0
Al 400
11 AMEISXAIEEXS 400 400 0
Ot RIS SXAE SAHL S|
A& 400,000& 400
Al 400
SHRLIIESAAIE SAHEL d9gat] & 2el+=g Al 7,200 7,200 0
_O‘:]
Al 7,200
307 glztol & 7,200 7,200 0
Al 7,200
11 ARRIS XA E X 7,200 7,200 0
OBRRIIE SXAE SAHL EHGAH]
2 22l N 7,200,000 7,200
Al 7,200
ALIHE SR 2 4,698,757 2,623,843 2,074,914
= 3,020,321
Al 882,757
- 795,679
A JERAH X2 77,876 76,472 1,404
201 fet= 3| 64,320 63,000 1,320
01 AtR2t2lHl 19,800 19,800 0
Ogl==7 JIEHIE SUR(6F)
1,650,000& «12& 19,800
2 S5=2g4l 44,520 43,200 1,320




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZgHESF0LlsH 2eltl
1,210,000& 122 14,520
OE L= 45 2l 2,500,000 12& 30,000
307 @I2to| & 13,55 13,472 84
1 ABI= XA S E 13,55 12,800 756
OIS g D203 29
12,800,000 12,800
Od== JIEHH ALRISXIAL E4=1SH|
A& 28,0003 *27H 756
A+ JIRMH 29 503,940 495,360 8,580
= 251,970
Al 125,985
- 125,985
307 elztol & 503,940 495,360 8,580
= 251,970
Al 125,985
- 125,985
11 AMEISXAEEES 503,940 495,360 8,580
Od+=+ JI=4H 2¢ 503,940,000 503,940
= 251,970
Al 125,985
- 125,985
orolEs X 3,761,474 1,750,000 2,011,474
= 2,633,032
Al 564,221
- 564,221
307 212+01™ 3,761,474 1,750,000 2,011,474
= 2,633,032
Al 564,221
- 564,221
1 AMISXAIEEXE 3,761,474 1,750,000 2,011,474
OololEs XNEAME 3,761,474,000& 3,761,474
= 2,633,032
Al 564,221
- 564,221
Ol0I==0l gsddse N 40,610 0 40,610
Al 40,610
307 elztol & 40,610 0 40,610
Al 40,610
11 AMRISXAEEES 40,610 0 40,610
OOt0I=L0| gsdcd+¢ A&
40,610,000 40,610
Al 40,610
SSH0U=sE € JIEESS0l 28X 110,388 109,692 696




2A:

E M

chel: ALIIE =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 55,194
Al 27,597
- 27,597
307 @I2to| & 110,388 109,692 696
= 55,194
Al 27,597
- 27,597
1 AMISXAIEEXS 110,388 109,692 696
O3s=|0LisH 2 JIES301 2SI
110,388,000& 110,388
= 55,194
Al 27,597
- 27,597
XN EHEH =288 X 30,469 30,469 0
Al 30,469
307 elzto| & 30,469 30,469 0
Al 30,469
1 ARRISIIAEE X 30,469 30,469 0
OAZIE X HE d=28H N
30,469,000 30,469
Al 30,469
JAZIHEXNEHE SALA SXXA 2,550 2,550 0
Al 2,550
307 el2to| & 2,550 2,550 0
Al 2,550
11 AMEISXIAEEES 2,550 2,550 0
OALIIYNAME BAXE S XK (H 2N
o) 2,550,000& 2,550
Al 2,550
HANE NG SAA 2238 X2 400 400 0
Al 400
307 @I2to1 & 400 400 0
Al 400
1 AMEISXAEEXS 400 400 0
OAZINEXNHHE SAHA 222 8| &
(M) 400,000 400
Al 400
JAUNENZHE SAHAE SHSAH & 2el=g X 10,800 10,800 0
Al 10,800
307 212+01& 10,800 10,800 0
Al 10,800
1 AMEISXAIEEXS 10,800 10,800 0
OAUNINHE BAXE ZAZAY L
=g A& 10,800,000 10,800




2A:

X XH -
o=

o D*SJPQEDI;I% EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 10,800
F ok - KIIIEXAAS 133,850 131,620 2,230
= 66,925
Al 66,925
307 QIZ2t01 A 133,850 131,620 2,230
= 66,925
Al 66,925
11 AR SXAMEER 133,850 131,620 2,230
OF < - 2AD1ItE XA
133,850,000& 133,850
= 66,925
Al 66,925
HAUEURE Ot N3 26,400 0 26,400
= 13,200
Al 13,200
301 LetENZ 26,400 0 26,400
= 13,200
Al 13,200
01 AISIBEX 2GS (2REXZE) 26,400 0 26,400
OFLERER Ots2sH| XA
26,400,000 26,400
= 13,200
Al 13,200
C23ts X 654,715 512,969 141,746
= 225,578
Al 200,587
- 228,550
Ch2stEXdE s 29 1,680 1,680 0
201 L2 AL 1,680 1,680
01 A=R2teld| 1,680 1,680
OURsIIEXFE g 3|9 A ¢
70,0003 x 128 +23] 1,680
23ISR JHE SAHA =2 28| XI& 33,748 26,550 7,198
Al 33,748
307 212+01™ 33,748 26,550 7,198
Al 33,748
11 AR SXAMEER 33,748 26,550 7,198
OCZISXI2HE SAR 232 28|
X3 22,648,000 22,648
Al 22,648
OCZ NS XI2ME SAX SXIE+= XIJ
3,100,000& 3,100
Al 3,100




fA: odots
Hu: ol =X ZF
el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEZ3IEX2HE SAHL Setdd 3
Bl XI& 800,000& 800
Al 800
OUEZ3IEX2HE SAHL S & 2
clt=& X2 7,200,000 7,200
Al 7,200
KNESstd U3 X2 A 14,500 14,000 500
Al 7,250
T 7,250
307 elztol & 14,500 14,000 500
Al 7,250
- 7,250
1 AMEISXAIEEES 14,500 14,000 500
OXNgEste UZetE XA
14,500,000 14,500
Al 7,250
- 7,250
CHESHE SSAtY 329,816 286,409 43,407
= 164,908
Al 82,454
- 82,454
307 21201 & 329,816 286,409 43,407
= 164,908
Al 82,454
- 82,454
11 MEISXAIE L2 329,816 286,409 43,407
OUzahts 2= 110,490,000 110,490
= 55,245
Al 27,622
- 27,623
OZ=012k SHAAHIA A
32,813,000& 32,813
= 16,407
Al 8,203
- 8,203
OLIE3ItE T Ao ZEXR
78,688,000& 78,688
= 39,344
Al 19,672
- 19,672
O0lsa0 Jt=etd =4
36,031,000& 35,031
= 17,515
Al 8,758
- 8,758




2A:

X XH -
o=

el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLZ3IotE Atell el 72,794,000 72,794
= 36,397
Al 18,199
- 18,198
2E0IQUA A2 XA (7 S=201na) 24,500 24,500 0
= 12,250
Al 6.125
- 6,125
307 212+01& 24,500 24,500 0
= 12,250
Al 6.125
- 6,125
11 AMISXAIEEX 24,500 24,500 0
OZE0IAUX AHUSXA(F =20 na)
24,500,000 24,500
= 12,250
Al 6,125
- 6,125
CHERHE Ols 2280 22A Xd 1,200 2,400 /1,200
Al 1,200
307 el2to| & 1,200 2,400 21,200
Al 1,200
11 AMEISXIAEEES 1,200 2,400 21,200
OLIE3HE Ols €80 dE3A N
1,200,000& 1,200
Al 1,200
Ct2st 21015 &Exizdl X 4,000 4,000 0
Al 2,000
T 2,000
307 elztol & 4,000 4,000 0
Al 2,000
- 2,000
11 AMEISXAIEEXS 4,000 4,000 0
Ot=23t 2D dEXIEHl K&
4,000,000& 4,000
Al 2,000
- 2,000
CIEshtE T HEE At 8,000 9,440 1,440
Al 8,000
307 @I2t01 & 8,000 9,440 1,440
Al 8,000
11 AMEISXAIEEE 8,000 9,440 1,440
OUEahtE A HEE At
8,000,000& 8,000




2A:

X XH -
o=

el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 8,000
CHE2ebiEE A 10,350 11,454 A1,104
2ctolls SHS A
Al 5,175
- 5,175
307 glztol & 10,350 11,454 21,104
Al 5,175
- 5,175
1 AMEISXAEEXS 10,350 11,454 A1,104
OU=2=hE M 2242lus SHE At
10,350,000 10,350
Al 5,175
- 5,175
CHEshtE ds22 )™ 4,000 4,000 0
Al 2,000
- 2,000
307 elztol & 4,000 4,000 0
Al 2,000
T 2,000
11 AMEISXAIEEXE 4,000 4,000 0
OU2etE d=n=2 -
4,000,000& 4,000
Al 2,000
- 2,000
CHE22EE stdD] A AFRIZE ot 1% 90,900 0 90,900
= 45,450
Al 22,725
- 22,725
307 gl2to| & 90,900 0 90,900
= 45,450
Al 22,725
- 22,725
1 AMEISXAEEES 90,900 0 90,900
OFAOIE W T23 e X2
46,700,000 46,700
= 23,350
Al 11,675
- 11,675
OFerEHl e&XId 44,200,000 44,200
= 22,100
Al 11,050
- 11,050
ZE0I12X LXK HAHAS (CH2SHZAHIHA) 9,600 4,000 5,600
Al 4,800




2A:
PSR
ool

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 4,800
307 212+01™ 9,600 4,000 5,600
Al 4,800
- 4,800
A= XA 9,600 4,000 5,600
OZE0|2Xt LXK HHAMS (CH2EH
AHIIFRA) 9,600,000& 9,600
Al 4,800
- 4,800
2E010I% YXf2IKI 12,250 16,500 14,250
HAMS (FEHHNEERA)
Al 6,125
- 6,125
307 2I2+01™ 12,250 16,500 AN4,250
Al 6,125
- 6,125
11 AR SXAEE X 12,250 16,500 24,250
OZS0I2IN 2 TH21 KIS H AT (321010
nssd) 12,250,000 12,250
Al 6,125
- 6,125
OPt= Z20/F04 CHOISAE 5,940 5,940 0
= 2,970
Al 1,485
- 1,485
307 212+01 A 5,940 5,940 0
= 2,970
Al 1,485
- 1,485
11 Al SXAMEE X 5,940 5,940 0
ORO0DI= ZE0IF04 CI0IS Al
5,940,000& 5,940
= 2,970
Al 1,485
- 1,485
ZE0|0IX LX2IXE HAHAIS (HEHR2Y) 35,000 33,360 1,640
Al 17,500
- 17,500
307 212+01 A 35,000 33,360 1,640
Al 17,500
- 17,500
11 Al =SXAMSEES 35,000 33,360 1,640
OZE0|2UX LRI XAHH ASRJA (X
ol 2H) 35,000,000 35,000




of
i’
oF
uJ

-

KIO

Hlw

21,000
1,000
A1,000
1,715
1,715

1,715

2220
N220

680

637,168

MEE
Ofl &k2h

2,000
2,000
2,000
64,516
64,516
64,516

900
900

1,320
1,320
120

1,200

3,368,928

12,500

12,500

12,500

Ofl &F2H

17,500
17,500

Al

1,000
1,000
1,000
1,000
66,231
66,231
66,231

6,460
16,300
43,471

680
680
680

680
1,320
1,320
1,200
1,200

120
120

4,006,096

i

991,287
12,500
5,000

2,069,881
213,357

671,571

Al

fir

1,250
6,250

12,500

5,000

Al

i

1,250
6,250

12,500

5,000

Al

i

- SRA(E) - HIRAY

- ESS

S - B

30
0K

bl
all

oJ

ar
pill

10

by

(m)

<+

1,000,000

01 AFR2t2ltl

307 212t01 &

Ki
Iy
D

[ = XA

3

11 Ak

6,460,000&
16,300,000
43,471,000&

]

80

=2

SH
=

03

o}
Ql

x
[

)

IS

100,000 « 122
10,0002 «12&

= HAl

01 AtR2telbl

&l

i
ok
%0

1o
I[3]

i

K0

o
[uind

2|

Orel X2

L5

-

307 212t01™

12,500

1,250
6,250

12,500

Al




A Hdotst
Hu: HAE 2584 U K8
Chel: HAE 23tEAL EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O&ALHE S0tel XA 12,500,000 12,500
= 5,000
Al 1,250
- 6,250
HAEANLE 29 3,272,724 3,235,239 37,485
= 577,341
Al 681,908
- 1,740,118
= 273,357
HAUESH2 BY 644,346 631,445 12,901
307 212+01™ 644,346 631,445 12,901
02 QIZHEAAHE X 23,000 23,000 0
OHEY Tz 29 XA
23,000,000 23,000
05 QIZtAEr 2 621,346 608,445 12,901
OFLEEA 29 621,346,000 621,346
HAEXIEZAF BIXI X2 74,762 68,973 5,789
- 24,408
Al 12,204
- 12,204
= 25,946
307 212+01™ 74,762 68,973 5,789
= 24,408
Al 12,204
- 12,204
= 25,946
02 QB AAIEER 74,762 68,973 5,789
OFLEXEZAF BIXIXI A 74,762,000 74,762
= 24,408
Al 12,204
- 12,204
= 25,946
HAEY NS00l 22 446,584 420,048 26,536
= 178,222
Al 89,111
- 89,111
= 90,140
307 QIZ2t01 A 446,584 420,048 26,536
= 178,222
Al 89,111
- 89,111
= 90, 140
02 QIZtAAAIEER 446,584 420,048 26,536




FA -0t
. ZAd 2384 L X8
Cel: HAEAIE 29 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogut=0p2tool 24 446,584,000 446,584
= 178,222
Al 89,111
- 89,111
= 90,140
SEFAELEANE A2 )Y 2 K& 16,000 16,000 0
Al 16,000
307 elztol & 16,000 16,000 0
Al 16,000
02 LB HANHEE 16,000 16,000 0
OBBFLESAL W2T2IY 29 K|
& 16,000,000 16,000
Al 16,000
NAHFLEF0D| T 2 (FLE-HAE 223 4,000 4,000 0
2EXd)
= 2,000
Al 1,000
- 1,000
307 212+01& 4,000 4,000 0
= 2,000
Al 1,000
- 1,000
02 QA HAIEE X 4,000 4,000 0
O=xeAE 3AE2323s X
4,000,000 4,000
= 2,000
Al 1,000
- 1,000
BAENZXAME 2S 520,000 424,064 95,936
Al 145,000
- 375,000
307 212+01& 505,000 424,064 80,936
Al 145,000
T 360,000
02 2IZHBHAIHE £ 3,000 0 3,000
ORI SBUS(FUHNMA)
3,000,000& 3,000
05 212t =S 502,000 424,064 77,936
OFAHAZIJEEH 29
502,000,000 502,000
Al 145,000
- 367,000
402 QI2F X201 & 15,000 15,000
03 2IZHRAETAIHHI 15,000 15,000




A HEOots

. ZAd 2384 L X8
Cel: HAEAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAGNZTJHE Y==3A
15,000,000 15,000
F44E 239y 28 444,315 433,367 10,948
307 gl2to| & 444,315 433,367 10,948
05 212+ = 444,315 433,367 10,948
OFExE=239E 24 444,315,000 444,315
KNSt HAENY 2R 119,611 110,860 8,751
= 50,051
Al 25,026
- 26,425
= 18,109
201 er23 | 1,400 1,680 2280
01 At2teltl 1,400 1,680 A280
OFLH=NAARS HA+E
70,0002 102 +23] 1,400
307 @120l & 118,211 109,180 9,031
= 50,051
Al 25,026
- 25,025
= 18,109
05 2ItRIE = 118,211 109,180 9,031
OBAHANY 7% X2
118,211,000 118,211
= 50,051
Al 25,026
- 25,025
= 18,109
o7 Eax@dgsidE 29 AF 174,122 164,317 9,805
Al 85,000
- 85,000
= 4,122
307 gl2to| & 174,122 164,317 9,805
Al 85,000
- 85,000
= 4,122
05 21t =S 174,122 164,317 9,805
OFxddE=NEH 28
174,122,0002 174,122
Al 85,000
- 85,000
= 4,122
ol SEL 22 )d 29 91,477 89,604 1,873
= 44,752
Al 22,376




fA: odots
. ZAd 2384 L X8
chelr HAEAE 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 22,376
= 1,973
307 lztol & 91,477 89,604 1,873
= 44,752
Al 22,376
- 22,376
= 1,973
05 212t =S 91,477 89,604 1,873
O3AH SN 228 29
91,477,000 91,477
= 44,752
Al 22,376
- 22,376
= 1,973
HAESEH Ml XA 7,418 7,416 2
Al 3,709
- 3,709
307 el2to| & 7,418 7,416 2
Al 3,709
- 3,709
02 QItEHAEE X 7,418 7,416 2
OBAESH MMM X2
7,418,000 7,418
Al 3,709
- 3,709
st 9 FEad K& 302,665 276,162 26,503
= 118,719
Al 25,440
- 25,439
= 133,067
307 gl2tol & 302,665 274,922 27,743
= 118,719
Al 25,440
- 25,439
= 133,067
05 2ItRIE = 302,665 274,922 27,743
OstuUStEAEHREHEH 22
302,665,000 302,665
= 118,719
Al 25,440
- 25,439
= 133,067
St S Al SAXE 20,160 10,800 9,360
= 5,028




fA: odots
. ZAd 2384 L X8
chelr HAEAE 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,566
T 7,566
307 lztol & 20,160 10,800 9,360
= 5,028
Al 7,566
- 7,566
02 LB HANHEE 20,160 10,800 9,360
Ostm 9 BAW 3AXE
20,160,000 20,160
= 5,028
Al 7,566
- 7,566
StHEASXNHHE SALA HRIHEH K2 7,254 4,540 2,714
Al 3,627
- 3,627
307 elzto| & 7,254 4,540 2,714
Al 3,627
- 3,627
02 2B YAIHE A 7,254 4,540 2,714
OStmYHEAETAHE SAT HSIHAY|
& 7,254,000 7,254
Al 3,627
- 3,627
HaE=sIAE 28 N2A 339,538 507,763 A168,225
= 133,039
Al 206,49
307 elztol & 339,538 507,763 168,225
= 133,039
Al 206,499
1 AMEISXAIEES 339,538 507,763 168,225
OF2E=IAE 28 N3 AY
339,538,000 339,538
= 133,039
Al 206,499
BAESTIAE SAH 22 28H] K& 32,000 37,100 25,100
Al 32,000
307 @I2t01 & 32,000 37,100 /5,100
Al 32,000
11 AMEISXAEEES 32,000 37,100 25,100
OBAESXAE SAHAL g=28d] A&
32,000,000 32,000
Al 32,000
HAESTAIE SAHA 288 & 22l Xi=E 4,800 7,200 2,400
Al 4,800




FA: H4ots

. ZAd 2384 L X8
ol FAEANE 29 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 4,800 7,200 22,400
Al 4,800
11 AMSISXAIEEX 4,800 7,200 22,400
OHAE=TAE SAK S2H 2 22X
=g 4,800,000 4,800
Al 4,800
HAESKIANE SAMA SXES X2 1,550 1,550 0
Al 1,550
307 212+01™ 1,550 1,550 0
Al 1,550
11 Al SXAMEE X 1,550 1,550 0
OFLESXIANE SAHA SXIEs X3
1,550,000& 1,550
Al 1,550
HAESKIAE SAA SEHLBRH K& 1,000 1,800 A800
Al 1,000
307 212+01™ 1,000 1,800 A800
Al 1,000
11 AR SXAMEER 1,000 1,800 A800
OFLESKIIAE SAHAH S 23 &8l X
& 200,000 *5H 1,000
Al 1,000
HAEASTAE A SR 2t 21,122 8,230 12,892
= 21,122
301 LB F 21,122 8,230 12,892
= 21,122
10 Al =SRLABAS 21,122 8,230 12,892
OFLESKIAE A ERRA 22|
10,561,000 «2% 21,122
= 21,122
HAE B85 2 '4 720,872 121,189 599,683
= 89,230
Al 308,129
- 323,513
SuE" oY 860 860 0
201 LB-2AY| 860 860
01 AtR2telt] 860 860
O EZANAXAE S 39 =&
70,0003 %10 700
OfIsE & =0 & 160,000& 160
HAE Soilgas A& 4,955 4,955 0
201 Let23H| 1,215 1,215
03 HAL2 G| 1,215 1,215
O==9 M= 70,0002 *5IH*90% 315
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fA: odots
. ZAd 2384 L X8
gelr 3449 25 2 |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FardRoistB2AIE XS 2,333 2,333 0
= 1,166
Al 584
- 583
307 212+01& 2,333 2,333 0
= 1,166
Al 584
- 583
02 QB HANEER 2,333 2,333 0
OFaxdRoistBZAIE XIS
2,333,000& 2,333
= 1,166
Al 584
- 583
Ols=A 2 58 37,860,861 37,050,351 810,510
= 24,555,828
[ 1,243,293
Al 7,080,826
- 4,843,371
= 137,543
Ots=¢ X2 29,258,257 30,122,600 A864,343
= 23,406,345
Al 4,006,183
- 1,755,729
Olsrgs0ils 29,255,657 30,120,000 A864,343
= 23,404,525
Al 4,095,793
- 1,755,339
301 EtE NS 29,255,657 30,120,000 A\864,343
= 23,404,525
Al 4,095,793
- 1,755,339
01 Al EE A S (2 RDEXMA) 29,255,657 30,120,000 A864,343
Ooots+¢ 29,255,657,000& 29,255,657
= 23,404,525
Al 4,005,793
- 1,755,339
XIXHH At XA (ots+< 224I) 2,600 2,600 0
= 1,820
Al 390
- 390
201 er=23| 2,600 2,600 0
= 1,820




fA: odots
B Ols=X Aol &
cel: ots=+=¢ A& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 390
= 390
01 Al22t2lH] 2,000 2,000 0
Oots4g U8 BBE M
2,000,000& 2,000
= 1,400
Al 300
- 300
2 5234l 600 600 0
OREEgsHl 600,000 600
= 420
Al 0
- D
FAAHE OlSES 3,272,649 2,635,950 636,699
= 396,238
Al 1,650,339
- 1,225,820
= 252
OLSSAl LBtAlg XI& 1,960 980 980
201 etz 3| 1,960 980 980
01 AtR2te|HI 1,960 980 980
O0tSAHs 2d+E
70,0003 * 14 %22 1,960
20t s 2,447,720 2,029,965 417,755
Al 1,223,860
- 1,223,860
301 EtE N = 2,447,720 2,029,965 417,755
Al 1,223,860
- 1,223,860
02 MR 2HHLFS(HAAS, XNLHE) 2,447,720 0 2,447,720
OZA0ts SAXIE 2,447,720,000 2,447,720
Al 1,223,860
- 1,223,860
geots IS (BUHL0ts LFs+H) 300,000 178,200 121,800
= 210,000
Al 90,000
301 EtE NS 300,000 178,200 121,800
= 210,000
Al 90,000
01 Al EE A2 (2RNEXMR) 300,000 178,200 121,800
ORNY YN YR+ X2
200,000« 125« 122 300,000
= 210,000
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2A:

B 4ol =7
=Rl FHYAS OtsES (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
AUt 25 36,000 0 36,000
= 25,200
Al 10,800
301 LeEN= 36,000 0 36,000
= 25,200
Al 10,800
01 Al EE A S (2 RNEXMA) 36,000 0 36,000
OLUATHAOIE 25H|
1,000,000 x3F «12& 36,000
= 25,200
Al 10,800
S iolots&E 2EX& 275,285 260,828 14,457
= 94,872
Al 180,273
= 140
307 212t01& 275,285 260,828 14,457
= 94,872
Al 180,273
= 140
10 MEISXAEHE2EHIEX 237,182 229,694 7,488
Ostiuloliotsas 2gXE
237,182,000 237,182
= 94,872
Al 142,310
11 AR S XA E X 38,103 31,134 6,969
OstiUIoiOtSEH SALA =28 =&
31,863,000& 31,863
Al 31,863
OstiulcHOtSdE SALAL X8 X2
1,300,000 1,300
Al 1,300
OstHUIcHOtSHE SALAL S 28|
A& 200,000& +3¥ 600
Al 600
OSIHIIGHOISHE SAHAH =2 & 2tel
A =g 4,200,000 4,200
Al 4,200
OstiuloiotsaH AMEI=EXAL E1SH|
A& 28,000 +5% 140
= 140
2ES0ts 158 28X 134,252 97,503 36,749
= 53,656
Al 80,484
= 12
307 @120l & 134,252 97,503 36,749




FA -0t
B Ols=X Aol X
=?Hel: FHAHNE OtsES (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 53,656
Al 80,484
= 12
10 MeISXAEHE2EHIEX 134,140 97,503 36,637
OgEs0ls O8s 2848 A&
134,140,000 134,140
= 53,656
Al 80,484
1 A= XA EE 12 0 112
OBSHEINE ABI=TA B2DSE| X2
112,000& 112
= 112
SSUEIE SML FS2EHI 43,915 35,29 8,616
Al 43,915
307 212t01& 43,915 35,299 8,616
Al 43,915
11 Bl = XA S X 43,915 35,299 8,616
OBSMEIIE EAX 32HY 12
43,915,000& 43,915
Al 43,915
SSHENE SAA =21 € 2elit=E 3,600 3,000 600
Al 3,600
307 212t01™ 3,600 3,000 600
Al 3,600
11 ARRIS XA E X 3,600 3,000 600
OZSHEINE SAL SHl & 22Xk
g 3,600,000 3,600
Al 3,600
SSUEL AR SXIE == X2 1,050 525 525
Al 1,050
307 2I12t0I& 1,050 525 525
Al 1,050
11 ARIZEXAIEE X 1,050 525 525
OSSHEIE SMHL EXE K
1,050,000 1,050
Al 1,050
SSUEIE SAL SEAZF 8l XE 200 400 A200
Al 200
307 el2to| & 200 400 A200
Al 200
11 AR ZXAIE 2= 200 400 2200
OSSHEIE SALL SEAHZE 8l X
200,000 200
Al 200




2A:

HEotst
ma: ols=x Ao =X
e FHHS OFSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSYEIHY T2 K& 10,796 10,676 120
Al 10,796
307 21201 & 10,796 10,676 120
Al 10,796
1 AMEISXAIEEXS 10,796 10,676 120
OSsdEIHy 22 )8 K&
10,796,000 10,796
Al 10,796
284 JHE Bs 949,251 842,918 106,333
= 464,765
Al 314,028
T 170,458
ISt S (AaHAEME) 2=H| X 208,800 185,700 23,100
Al 146,160
- 62,640
301 EtE N = 208,800 185,700 23,100
Al 146,160
- 62,640
02 A EEHS(FIANE, XLTHE) 208,800 0 208,800
OJEASOIS(AEHAHIE) 2=H XJ
208,800,000 208,800
Al 146,160
- 62,640
LAIREESH X2 2,700 0 2,700
Al 1,890
- 810
301 EtE N = 2,700 0 2,700
Al 1,890
- 810
02 A2 H -GS (FHAAS, NSWE) 2,700 0 2,700
LAIREESH] 2,700,000 2,700
Al 1,890
- 810
(HENEAEHZ0ISESH XA 12,000 0 12,000
= 8,400
Al 3,600
301 EtE NS 12,000 0 12,000
= 8,400
Al 3,600
01 Al EE A2 (2RNEXMR) 12,000 0 12,000
O(@2IHEAE)H20IsESH N
1,000,0002 x1&* 12 12,000
= 8,400
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fA: odots
B Ols=X Aol &
gelr AEal O 23 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 2,250
Ostal 15,300,000 15,300
Al 7,650
= 7,650
Otists meorETI
2,000,000& *4H+12] 8,000
Al 4,000
- 4,000
AEEHEE ANEEEsS XN 50,000 0 50,000
Al 25,000
- 25,000
301 22N = 50,000 0 50,000
Al 25,000
- 25,000
02 A2 EH LGS (HAAS, NLWE) 50,000 0 50,000
OXgl=EHIEE Meds X3
10,000,000& *56H 12| 50,000
Al 25,000
- 25,000
I RIEO0lS(AEAEIIE) tids&gsHl X 18,000 0 18,000
Al 18,000
301 LEtE NS 18,000 0 18,000
Al 18,000
02 ARSI 2E A S(FANS, XLETHE) 18,000 0 18,000
ONEASOIS(AEAHIHE) HHs2SH
A& 18,000,000 18,000
Al 18,000
Ol 2L XIE Az 450,051 483,318 N\38,267
= 315,035
Al 67,508
- 67,508
301 EetE2 NS 450,051 488,318 A\38,267
= 315,035
Al 67,508
- 67,508
01 Al EE AT Z(2DEXR) 450,051 483,318 N\38,267
OOts2 XAz H20MEs K=
450,051,000 450,051
= 315,035
Al 67,508
- 67,508
YA 0tS delxlg NE 4,400 4,400 0
2 3,080
Al 1,320




A Hdotst
B Ols=X Aol &
thelr AdAald JHE 25 (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 4,400 4,400 0
= 3,080
Al 1,320
01 A BE X2 (R REETHA) 4,400 4,400 0
QAIIHIIEOLS MRlXIR XH
4,400,000 4,400
= 3,080
Al 1,320
AEEHEE MY K= 168,000 90,000 78,000
= 134,400
Al 33,600
301 LetENEZ 168,000 90,000 78,000
= 134,400
Al 33,600
01 A BEXHZ(RREETA) 168,000 90,000 78,000
OXg&EHIEYE MY K=
400,000 & *35H*12& 168,000
= 134,400
Al 33,600
CHtH =sAtg XI& 880,772 569,068 311,704
s 390,452
Al 217,554
- 272,766
CHatH S=SAE 29 82,228 98,502 A16,274
201 L2 | 930 980 0
01 At 22|l 980 980 0
OXE=882i 2% =
70,0003 7 H*23| 980
307 2I2+01A 81,248 97,522 A16,274
10 Al SXAIEHE2ZHIEX 81,248 0 81,248
OFsts U Ss4H IR
73,047,380 73,048
O=HIIEE UEH S3SHH FIHKIJ
4,600,000& 4,600
Og=23 UEH S3HH =LA
300,000& 123 3,600
CIeN=s4dEe &XIHl XI& 210,000 210,000 0
= 140,000
Al 35,000
- 35,000
401 AIEHIZL20ib] 150,000 150,000 0
s 80,000
Al 35,000
- 35,000




fA: odots
B Ols=X Aol &
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 150,000 150,000 0
OCH SEHIE 2l2UbI(HY)
100,000,000 100,000
= 50,000
Al 25,000
- 25,000
Ot ssdH 2l2LEHI(S00)
50,000,000 50,000
= 30,000
Al 10,000
T 10,000
402 2I2F X201 & 60,000 60,000 0
= 60,000
02 QI TH2AILEE (01X THE) 60,000 60,000 0
OCIEtH SsSHIE JIXHEI(SH)
40,000,000 40,000
= 40,000
OCHEH SS4IE JIXHIHHI(S0C)
20,000,000 20,000
s 20,000
CHENESsSdE 18] X 428,904 215,088 213,816
= 214,452
Al 107,226
- 107,226
307 @I2t0| & 428,904 215,088 213,816
[ 214,452
Al 107,226
- 107,226
11 AMEISXAIEEXS 428,904 215,088 213,816
OUEN SSHH 128l X2
428,904,000 428,904
[ 214,452
Al 107,226
- 107,226
CreNE=sde 238 N3 72,000 14,400 57,600
[ 36,000
Al 18,000
- 18,000
307 el2tol & 72,000 14,400 57,600
= 36,000
Al 18,000
T 18,000
11 AMEISXAEEES 72,000 14,400 57,600




2N 6-dotst
ma: ols=x A =X
ol CHEN SsSAHE X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OU&EH =s4dH 2381 X
72,000,000 72,000
= 36,000
Al 18,000
- 18,000
CIHEtH SSHIE SAA SeA2d A K& 1,200 800 400
Al 1,200
307 QIZt01 A 1,200 800 400
Al 1,200
11 Al =SXAMEES 1,200 800 400
OCetH SSHH SAA S22 38|
K& 1,200,000& 1,200
Al 1,200
CHatH SS4dIEH SAAR =SXE8+ X 3,800 1,400 2,400
Al 3,800
307 212+01A 3,800 1,400 2,400
Al 3,800
11 Al =SXAMEES 3,800 1,400 2,400
OUEH =34dH SAR =XE8+= K&
3,800,000& 3,800
Al 3,800
CIEHN=SdE SALL 2228 XA 60,624 21,162 39,462
Al 30,312
- 30,312
307 QIZt01 A 60,624 21,162 39,462
Al 30,312
- 30,312
11 AL SXAMEEER 60,624 21,162 39,462
OCretH S=sHH SAA da3EXY
60,624,000 60,624
Al 30,312
- 30,312
CletH=34dEH SALL Sl 2 22k X 14,400 0 14,400
Al 14,400
307 212+01 A 14,400 0 14,400
Al 14,400
11 Al SXAEE X 14,400 0 14,400
OUEH=SHE SAHAH 2d| & 22X
=g K& 14,400,000 14,400
Al 14,400
Clet=sdlH ss2td K2 7,616 7,716 A100
Al 7,616
307 212+01™ 7,616 7,716 A100
Al 7,616




FA -0t
ma: ols=x A =X
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 7,616 7,716 A100
OLligh =sS4dH sts2t8 X2
7,616,000& 7,616
Al 7,616
gn=ual 2 XG0tsHE 29 3,014,942 2,391,995 622,947
= 852,841
Al 780,686
- 1,351,034
= 30,381
gUsuwd 238 447,807 225,710 222,097
307 gl2to| & 447,807 225,710 222,097
1 AMISXAIEEXS 447,807 225,710 222,097
ogit=ud 29 447,806, 180 447,807
NS 0tsHE 249Hl XA 231,584 1,024,440 ATR,856
[ 115,330
Al 57,665
- 57,665
= 924
307 elztol & 231,584 1,024,440 ATR,856
= 115,330
Al 57,665
- 57,665
= 924
10 Al SXAEEE 22X 230,660 1,024,440 AT793,780
OXNotsdE 24 XId(OI=22a)
230,660,000 230,660
[ 115,330
Al 57,665
- 57,665
11 AMISXAIEEX 924 0 924
OXISO0tSHE SAHL ALRISIIAL E41F
Bl 28,0002 »33& 924
= 924
AS0tSHE lAd| XA 1,157,688 0 1,157,688
[ 578,844
Al 289,422
- 289,422
307 el2to| & 1,157,688 0 1,157,688
[ 578,844
Al 289,422
T 289,422
10 Al SXAEEHE 22X 1,157,688 0 1,157,688
OXS0otsHIE Al K&
1,157,688,000& 1,157,688




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 578,844
Al 289,422
- 289,422
Sd€ XE0tsdH FIHE 30,000 29,136 864
= 15,000
Al 7,500
- 7,500
307 @12t0| & 30,000 29,136 864
[ 15,000
Al 7,500
- 7,500
10 Al SXAEEHE 22X 30,000 29,136 864
OS+2HE TA0SHE FIIXe
620,000 x 122 x30H 2 22,320
[ 11,160
Al 5,580
- 5,580
OER2Y XZ0tsHE =K
320,000 * 12«20 2 7,680
[ 3,840
Al 1,920
- 1,920
KGotsdE SZHd XA 20,000 10,000 10,000
[ 10,000
Al 5,000
- 5,000
307 el2to| & 20,000 10,000 10,000
[ 10,000
Al 5,000
- 5,000
10 Al SXAAIEEHE 22X 20,000 10,000 10,000
OXNEotsHE sdid X3
10,000,000 *29H 2= 20,000
[ 10,000
Al 5,000
T 5,000
AEotsHE stsetd N 51,870 42,840 9,030
Al 25,935
- 25,935
307 @20l & 51,870 42,840 9,030
Al 25,935
- 25,935
11 AMRISXAEEES 51,870 42,840 9,030




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OXSotsHE stesed N3
51,870,000& 51,870
Al 25,935
- 25,935
AGotsdE dis & 2=2LH9 &S K& 8,184 6,240 1,944
Al 8,184
307 elztol & 8,184 6.240 1,944
Al 8,184
11 AMRISXAEEES 8,184 6.240 1,944
OXSOtSHE ois % 22LHY g XA
8,184,000& 8,184
Al 8,184
A0tsdy 228 29 K& 25,850 41,000 15,150
Al 12,925
- 12,925
307 lztol & 25,850 41,000 A15,150
Al 12,925
- 12,925
1 AMEISXAEEXS 25,850 41,000 15,150
OXSotsHdE =208 29 X (ExX)
25,850,000 25,850
Al 12,925
- 12,925
AgotsdE 2Hsgs X 4,000 4,000 0
Al 4,000
307 el2to| & 4,000 4,000 0
Al 4,000
11 AMEISXAEEES 4,000 4,000 0
OXlgotsdy Zs=2s KA
10,0003 400 4,000
Al 4,000
NS0tSHE OtSHEEM 29| ZHAEE 3,000 0 3,000
307 glztol & 3,000 3,000
11 AMEISXAEEE 3,000 3,000
OXNS0ISHE OtsASEM 2912 HAE]
ENE 3,000,000& 3,000
NEotsSHE SSXA WsE A& 3,120 3,130 A10
Al 3,120
307 elztol & 3,120 3,130 A10
Al 3,120
11 ARISXIAIEE 3,120 3,130 A10
OXgotsHe S8XX s
3,120,000& 3,120
Al 3,120




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NSotSHE 1222 = X2 4,140 4,050 0
Al 4,140
307 21201 & 4,140 4,050 0
Al 4,140
1 AMEISXAIEEXS 4,140 4,050 0
OXHOISHE 12HaSl s= XIg
10,0002 %414 4,140
Al 4,140
NS0tsHE 0I180ts AZ3HA HlE A& 7,020 7,020 0
Al 7,020
307 elztol & 7,020 7,020 0
Al 7,020
11 AMISXAIEEX 7,020 7,020 0
OXIMOLSHE 01B0IS 21227 HIZ X
el 30,0003 »234H 7,020
Al 7,020
KSE0otsHE 0180ks OIME X gX0tA3 XA 4,140 3,860 280
Al 4,140
307 lztol & 4,140 3,860 280
Al 4,140
1 AR SXAIEE X 4,140 3,860 280
OXE0otsHIE 0l20ts DMK ZXI O
A3 X& 10,0002 x4 14 4,140
Al 4,140
KGotsdE SAHA =28l X 472,043 466,674 5,369
Al 236,021
- 236,022
307 212+01& 472,043 466,674 5,369
Al 236,021
T 236,022
11 AMEISXAEEXS 472,043 466,674 5,369
OXSOtSHE SAHL 2288 NI&H
472,043,000 472,043
Al 236,021
- 236,022
NSOtSHE SAHA SXE= K& 9,025 5,000 4,025
Al 9,025
307 elztol & 9,025 5,000 4,025
Al 9,025
11 AMEISXAEEES 9,025 5,000 4,025
OXISOtSHIE! SALL SXE+ X
9,025,000 9,025
Al 9,025
NS 0ISHE SAHL SE2A22888] X2 4,200 2,200 2,000




fA: odots
B Ols=X Aol &
el gntsnal 2 XY90otsdE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,200
307 gl2tol & 4,200 2,200 2,000
Al 4,200
11 AMEISXAEEES 4,200 2,200 2,000
OXSOtSHIE SALL S22 88] XI&H
200,000 *21 4,200
Al 4,200
KNS 0tsHE SAZR0/ 28] X 234,480 223,269 1,211
Al 35,556
- 198,924
307 elztol & 234,480 223,269 1,211
Al 35,556
- 198,924
11 AMEISXAEEXS 234,480 223,269 11,211
OXIHOISHIEl YBE(FA) SAE20
2l X3 9,620 * 14 2+24 A 2Hx 115 35,556
Al 35,556
OXIGOISHE 80I15/Y8F(44)) =20
el2idl I 198,924,000 198,924
OlSSXIWAL DHAXIZ (XIG0otSHIE RIY) 296,791 289,526 7,265
= 133,667
Al 66,833
- 66,834
= 29,457
101 @124H| 296,791 289,526 7,265
= 133,667
Al 66,833
- 66,834
= 29,457
04 JIZtNZ22 XS 2+ 296,791 289,526 7,265
OXNAOISHE! OIS=XI DAL X2
267,334,000 267,334
[ 133,667
Al 66,833
- 66,834
ONd2R(Sa=0f) & o]
1,800,000 1,800
= 1,800
OJI2HH 22X NES=28=
27,656,720 27,657
= 27,657
SIOtS 25 A 27,480 30,340 2,860
= 8,000
Al 1,000
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od
i’
oF
uJ

-

KIO

Hlw

600

1,000

1,000

3,340
3,340
3,340

5,823

MEE
Ofl &k2h

600

6,000

6,000

457,480
175,387

457,480

Ofl &F2H

1,200

1,200
960
120
120

7,000

5,600

i

700
700
7,000
7,000
5,600

Al

i

700
700
3,340
3,340
3,340

Al

880
100
360

457,510

2,000
21,036

49,084

106,910

280,480
21,036
49,084

106,910
181,210

457,510
108,168

i

- HyS

- SRA(E) - HIRAY

S - B

30
0H
[0
M0

7,000,000

30
0H
[0
M0

100,000&

e =g SXH(E

o

880,000
2,000,000&
360,000

dUs dEXNE HI| SAH|

2|

=

=]

X
PAEIA X

o &
)

3

]l

Oots
=X
Ql2AH|

101

CEAERE

175,177 5,823

8,113
18,929
46,000

181,000

135,000

Al

135,000,000&




fA: odots
Zu: oSS 2o B
Chel: SYAEE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 108,000
Al 8,100
- 18,900
OOtSSetAtdIZeIAL H=Z
46,000,000 46,000
= 46,000
M IRNZZNEE 210 210 0
OXIS AL S XA 22/ =& 0]
210,000 210
= 168
Al 13
- 29
201 2= 100,910 115,927 15,017
= 33,440
Al 2,508
- 5,852
= 59,110
01 At2teltl 20,580 24,121 A3,547
O=gH| 2,880,000& 2,880
= 2,304
Al 173
T 403
Oget+=ZHI 11,000,000& 11,000
= 8,800
Al 660
- 1,540
ogxz 3,300,000& 3,300
= 2,640
Al 198
- 462
Oo=g=¢ 3,400,000 3,400
= 2,720
Al 204
- 476
2 35234l 4,780 5,760 A980
0332 € AMAl 3,000,000 3,000
= 2,400
Al 180
- 420
OSEEEAIAEKRXI2e|]
780,000 780
= 624
Al 47
T 109




A Hdotst
XN OlE=x Ao =X
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OAlE 2 =Bl Sxz2l]
1,000,000& 1,000
= 800
Al 60
- 140
03 @At2EH] 75,550 86,040 210,490
OEEAERE T2 23
16,440,000 16,440
= 13,152
Al 986
- 2,302
Ooge ¢ a5 N3 S
22,350,000 22,350
= 22,350
OENLY S XFEE AHHIA X2
2,360,000& 2,360
= 2,360
OBetAME 23 34,400,000 34,400
= 34,400
202 04d| 10,000 10,050 AB0
= 8,000
Al 600
- 1,400
01 =WOdbI 10,000 10,050 AB0
OEEAEE AIHEZE 2 HIXI0R S 0l
10,000,000 10,000
= 8,000
Al 600
- 1,400
203 AR F=&lH| 700 700 0
= 560
Al 42
- B
03 Al FAIH R FAIH| 700 700 0
OAIHFA AR FLIH| 700,000 700
= 560
Al 42
- B
301 LB F 123,920 124,600 680
= 97,6%6
Al 7,327
- 17,097
= 1,800
01 Al B&X2HZ2(2REETA) 122,120 122,800 A680




A O

M Ols=A 2y sS4
chel: CEIAELE (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0ts 2e gog Z203 A
122,120,000& 122,120
= 97,696
Al 7,327
- 17,097
11 dALEEIXIE S 1,800 1,800 0
OEHAERE 29 1,800,000 1,800
= 1,800
04 HSRESS 40,770 30,816 9,954
= 32,616
Al 2,446
- 5,708
M BRA(RIAHL) 22N EESRE=s S 40,770 5,040 35,730
OOtsSEAtd 22N B-RE2 S
30,820,000& 30,820
= 24,656
Al 1,849
- 4,315
OOtSSEAtdIZEIAL EIRE
9,950,000& 9,950
= 7,960
Al 597
- 1,393
BH2IBHI(HLots) 130,833 80,626 50,207
= 52,160
Al 6,520
T 67,216
= 4,937
elA2EH(0gotsn) 74,442 40,658 33,784
= 52,160
Al 6,520
- 10,825
= 4,937
QA2 NRAIL(OISESHERY) 74,442 40,658 33,784
= 52,160
Al 6.520
- 10,825
= 4,937
101 @1A4H| 70,137 38,610 31,527
= 52,160
Al 6,520
- 6.520
= 4,937
02 JIEtM == 70,137 38,610 31,527




fA: odots
M HYRAZH(HLotS1)
CHRl: CIE29H|(0{40tS ) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0tSESdERE 22|
70,137,000& 70,137
= 52,160
Al 6,520
- 6,520
= 4,937
204 MNP AH| 4,305 2,048 2,257
02 =22 x| 3,255 1,523 1,732
OAMZESHHAIIMSFA"0'S 32X
135,620 x2&~ 123 3,255
03 S F3H 1,050 525 525
OARZIE RTINS RA"0H'E 2SS
43,7502 x2&* 122 1,050
[=2Z2HI(0 &0t 56,391 39,968 16,423
JI2ZHINSAIS (K& 0tS1L) 56,391 39,968 16,423
201 fer=3| 30,305 22,160 8,145
01 AtR2t2|HI 30,305 22,160 8,145
Oget=EH| 54,5003 x26H + 123 9% 16,329
O=gHt| 8,000& x26Hx641 12 14,976
202 04l 20,736 13,608 7,128
01 =LHAHI 20,736 13,608 7,128
OE&0t| 10,0003 x24 2+ 123 %90% 20,736
203 HF=AY] 4,800 4,200 600
M A2 LRSI 4,800 4,200 600
ORMEZE =4 400,000+ 123 4,800
405 KHAHE SH 550 550
01 Tt 2SS F=HI 550 550
OAtRd &I 7 550
OARE Y 240,000& *1H 240
o0ls A& 140,000 *1H 140
O AR E 2Kt 170,000 14 170




H & 0l & AHS B Ml A

SN BMESD
B HEL 2
ol SMEHXE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SNMEF 128,819,232 116,525,194 12,294,038
= 67,682,626
Al 38,951,476
- 22,065,130
= 120,000
HEL =5 6,886,330 7,256,180 369,850
= 3,403,000
Al 794,200
- 2,689,130
SMEHXIA 6,886,330 7,256,180 A369,850
= 3,403,000
Al 794,200
- 2,689,130
Hotg 0|23 4,538,000 5,100,000 A562,000
= 3,403,000
Al 794,200
- 340,800
308 AHXIHM SO & 4,538,000 5,100,000 A562,000
= 3,403,000
Al 794,200
- 340,800
1 SI2SUHHEHE A E L EALAHI 4,538,000 5,100,000 A562,000
oxotgolEd 4,538,000,000& 4,538,000
= 3,403,000
Al 794,200
- 340,800
EMFH=2 A 1,500,000 1,158,600 341,400
301 LEENZ 1,500,000 1,158,600 341,400
03 A2 2 & X262 (XY THA) 1,500,000 0 1,500,000
O=MEAHS 1,500,000,000& 1,500,000
Otitt SO0ts& Hddza XN 450,000 250,000 200,000
301 LPENZ 450,000 250,000 200,000
03 A B EE IS (XY ) 450,000 0 450,000
OOHilt 0I5 Hddzg K&
450,000,000 450,000
AR OHHE A (mother box) 390,000 390,000 0
&
301 LetEHZ 390,000 390,000 0
03 A3 2 & 262 (XY THA) 390,000 0 390,000
O AL DHHEMA (mother box) XI&
390,000,000& 390,000
HEdt =5 &3 =4 5,180 5,180
201 B2 AY| 5,180 5,180 0




SN BMESD
B NEA 2=
e SeEHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,180 5,180 0
OMEN E2 & I &S
5,000,000& 5,000
ONE4 22 TN EHF M
180,000 180
AN 1P W= 2,250 1,500 750
201 2= 2,250 1,500 750
01 AtR2t2lt] 2,250 1,500 750
OelR s A& 150,000& * 152 2,250
S N2 g2 =M 900 900 0
203 HR=H] 900 900
03 A=A RN 900 900
OELHIE g 900,000 900
SEAEIA = 121,853,667 109,190,365 12,663,302
= 64,279,626
Al 38,157,276
- 19,296,765
= 120,000
2| =4 1,612,650 984,268 628,382
= 623,250
Al 311,625
- 557,775
= 120,000
JOotEZ Ogold X 116,500 0 116,500
= 58,250
Al 29,125
- 29,125
401 AlZHIZ S 0HbI 116,500 0 116,500
= 58,250
Al 29,125
T 29,125
01 Al&HI 116,500 0 116,500
@)=V ES G E=TUFSEP]a]
116,500,000 116,500
= 58,250
Al 29,125
T 29,125
St SSFE 2Acls =SE001E £X 760,000 170,000 590,000
= 330,000
Al 165,000
T 165,000
= 100,000
401 Al HIZ R 0HbI 600,000 110,000 490,000




SN BUESD
X EsAHIA 2
ol SE=s)|E &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 300,000
Al 150,000
- 150,000
01 Al 600,000 110,000 490,000
02T 2128
600,000,000 600,000
= 300,000
Al 150,000
- 150,000
402 2I2FX=201& 160,000 60,000 100,000
= 30,000
Al 15,000
- 15,000
= 100,000
03 2IZ+RAETAIS I 160,000 60,000 100,000
O=ZE02l0I& JIXtiHYI
160,000,000 160,000
= 30,000
Al 15,000
T 15,000
= 100,000
SSTH 2cls Y200l =230 0E M 220,000 520,000 300,000
= 110,000
Al 55,000
- 55,000
401 Al HIZ R 0HbI 200,000 440,000 240,000
= 100,000
Al 50,000
- 50,000
01 A28l 200,000 440,000 240,000
O=3E80e0/& cl2ag|
200,000,000& 200,000
= 100,000
Al 50,000
- 50,000
402 2I2F X201 & 20,000 80,000 60,000
= 10,000
Al 5,000
- 5,000
03 2IZ+RAETAIS I 20,000 80,000 60,000
O=Z802l0I& JIXtiHYI
20,000,000 20,000
= 10,000
Al 5,000




SN BUESD
X EsAHIA 2
el SESIIE &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 5,000
A4z 22 JHE00E )X =58 det & 230,500 230,500
Xl
= 105,000
Al 52,500
- 53,000
= 20,000
201 er23| 500 500
01 At2teltl 500 500
O2Ng& 3t 500,000 500
401 AIEHIX R0 100,000 100,000
= 50,000
Al 25,000
- 25,000
01 Al&H| 100,000 100,000
OAl&H| 100,000,000 100,000
= 50,000
Al 25,000
T 25,000
402 2I2F X201 & 30,000 30,000
= 5,000
Al 2,500
- 2,500
= 20,000
03 2I2+LAEAISHI 30,000 30,000
OIIAHHI 30,000,000& 30,000
= 5,000
Al 2,500
- 2,500
= 20,000
406 J|EHAH=0I A 100,000 100,000
= 50,000
Al 25,000
- 25,000
01 JIEFRH=01H 100,000 100,000
O2 Mg £8H4| 100,000,000 100,000
= 50,000
Al 25,000
- 25,000
SIS0 THHIM B2 AL 228,500 228,500
307 glztol & 62,500 62,500
05 2ItRIE = 62,500 62,500




SN BUESD
X EsAHIA 2
ol SE=s)|E &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=TYOIRIOIT UAZS Bt
62,500,000& 62,500
401 AIZHIX R0 166,000 166,000
01 AlZH| 150,000 150,000
O=SE0e0l& WAt EA I A
150,000,000& 150,000
02 22/l 16,000 0 16,000
O2ZOIZOIT HHAESATA 221H|
16,000,000 16,000
Ofglold 2O (o2 =, ZHIHl) 40,000 74,541 A34,541
= 20,000
Al 10,000
- 10,000
401 Al HIZL 201 30,000 74,541 AN44, 541
= 15,000
Al 7,500
- 7,500
01 Al&HI 30,000 74,541 N4, 541
ORTBYOIRIOIE H22H]
30,000,000& 30,000
= 15,000
Al 7,500
- 7,500
402 BIZtAH=01 A 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
02 RIENEASEZ(0IETHR) 10,000 0 10,000
O=380e0ld &yl 10,000,000& 10,000
= 5,000
Al 2,500
- 2,500
EFuUHA O - Byl & 5,250 1,200 4,050
307 212+01& 5,250 1,200 4,050
11 AMRISXAEEES 5,250 1,200 4,050
OSSR o - MEAAY g
5,250,000& 5,250
=3EH0IE WA 4,000 500 3,500
307 elztol & 4,000 500 3,500
04 CIZHHAMALH 2 & 4,000 500 3,500
ORZHUOI0IA T
500,000 *8IH A 4,000
EFEAARS 28 7,000 9,900 22,900
201 et 3| 7,000 9,900 2,900




SN BUESD
X EsAHIA 2
el SESIIE &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 7,000 9,900 2,900
OESEMA 2
70,0002 *10*102 7,000
2IJg gRFA 900 450 450
203 HR=AH] 900 450 450
03 A=A PR FZ| 900 450 450
OE=)|e g2 900,000& 900
2F0ts & AIEX2 117,445,391 105,529,537 11,915,84
= 63,628,779
Al 37,385,146
- 16,431,466
Eedssg A3 2,874,968 8,643,857 A\b,768,889
= 2,156,226
Al 503,119
- 215,623
301 EtE N = 2,874,968 8,643,857 A\b,768,889
= 2,156,226
Al 503,119
T 215,623
01 A2 HSFS(RNEERTHE) 2,874,968 8,643,857 A\b,768,889
otgegs=g 2,874,968,000& 2,874,968
= 2,156,226
Al 503,119
- 215,623
R220(Hot+E) XA 24,238,533 4,473,513 19,765,020
= 18,178,900
Al 4,241,743
- 1,817,890
301 LELEN S 24,238,533 4,473,513 19,765,020
= 18,178,900
Al 4,241,743
- 1,817,890
01 Al 2E AL S(SREXME) 24,238,533 4,473,513 19,765,020
Ogot=¢ XN& 24,238,533,000& 24,238,533
= 18,178,900
Al 4,241,743
- 1,817,890
dR0tE=EE K& 39,578,194 41,570,316 1,992,122
= 29,683,645
Al 6,926,184
- 2,968,365
307 @120l & 39,578,194 41,570,316 A1,992,122
= 29,683,645




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,926, 184
T 2,968,365
11 AMEISXAEEES 30,578,194 41,570,316 A1,992,122
OgR0t 25 30,578,194,000& 30,578,194
= 29,683,645
Al 6,926, 184
- 2,968,365
BI3~5MI0H el tE 2S X 12,285,825 13,204,602 A8, 777
Al 12,285,825
307 @12t0| & 12,285,825 13,204,602 N918,777
Al 12,285,825
1 ABIZXIAEE 12,285,825 13,204,602 A918,777
Ot 35H0F BT 282
9,225,727,000& 9,225,727
Al 9,225,721
OB 35410 F2IDHE 2e+g 2 2|
3,060,098,000& 3,060,098
Al 3,060,098
Oelold 2=l ot 25AI0 2S5 X 268,800 0 268,800
Al 134,400
- 134,400
307 el2to| & 268,800 0 268,800
Al 134,400
- 134,400
11 AMISXAIEEX 268,800 0 268,800
OO02l0lE 2A=0I0t= 26M E5&
268,800,000 268,800
Al 134,400
- 134,400
FRRYEsE X2 1,614,000 1,807,944 A193,944
Al 399,000
- 1,215,000
307 el2to| & 1,614,000 1,807,944 A193,944
Al 399,000
- 1,215,000
1 AMISXAIEEX 1,614,000 1,807,944 A193,944
OR2REE=sE K& 1,614,000,000& 1,614,000
Al 399,000
- 1,215,000
CIAHEOHE 228 2128 139,680 165,960 N26,280
Al 97,776
- 41,904
307 elzto| & 139,680 165,960 N26,280




SN BUESD
M. BFEAMHIA 2
ol 250t € AKX (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 97,776
- 41,904
11 AR SXAMEER 139,680 165,960 A26,280
OLHIEDNY 222g 888
139,680,000& 139,680
Al 97,776
= 41,904
HEHASE0IE FL0INBAIE 018 HASKE X 57,600 81,504 723,904
Al 28,800
- 28,800
307 2I2+01A 57,600 81,504 A23,904
Al 28,800
- 28,800
11 AR SXAMEER 57,600 81,504 A23,904
OHEMASEOIs ER0IXZAE 018 Xt
aHEzzs K& 57,600,000 57,600
Al 28,800
- 28,800
HEMASSO0ls 59 2234| X 280,860 388,740 A107,880
Al 140,430
- 140,430
307 QIZ2t01 A 280,860 388,740 107,880
Al 140,430
- 140,430
11 AR SXAMEER 280,860 383,740 A107,880
OHEMASEOs O%e 23|
280,860,000& 280,860
Al 140,430
- 140,430
ANZRHESAMEIA MSKIA 356,000 355,176 824
= 178,000
Al 89,000
- 89,000
307 212+01™ 356,000 355,176 824
= 178,000
Al 89,000
- 89,000
11 AR SXAMEES 356,000 355,176 824
OAIZHH B X 356,000,000& 356,000
= 178,000
Al 89,000
- 89,000
SFWAA 1AL K& 12,541,632 12,602,369 260,737




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,524,979
Al 3,511,657
- 1,504,9%
307 @I2to| & 12,541,632 12,602,369 AN\60,737
= 7,524,979
Al 3,511,657
- 1,504,99%
10 Al SAAEEHE 22X 12,541,632 12,602,369 A60,737
OOGI2I0I& SAHAL 12|
12,541,632,000& 12,541,632
= 7,524,979
Al 3,511,657
- 1,504,99%
00 248 K& 410,410 344,844 65,566
307 @120l & 410,410 344,844 65,566
10 Al SXA2EE 22X 410,410 344,844 65,566
OS+7H 02I0/& 2HX|
410,410,000 410,410
ESuHE MM XS (DA2RSZHLE] S) 3,624,330 3,777,900 ~153,570
= 2,174,598
Al 1,014,812
- 434,920
307 212+01& 3,624,330 3,777,900 153,570
= 2,174,598
Al 1,014,812
- 434,920
1 AMISXAIEEX 3,624,330 3,777,900 153,570
OuAZREZ I 3,480,330,000& 3,480,330
= 2,088,198
Al 974,492
- 417,640
OuABHEE 144,000,000 144,000
= 86,400
Al 40,320
- 17,280
SSDAY HRMH K (SEwARIZH) 5,851,667 5,182,631 669,036
= 3,511,000
Al 1,638,467
- 702,200
307 el2to| & 5,851,667 5,182,631 669,036
= 3,511,000
Al 1,638,467
T 702,200




A EAESD
M BRMHIA B
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NV NEEREI=TEES 5,851,667 5,182,631 669,036
ONRI0IX BXRMAL Q1AH] XI2
5,851,667,0002 5,851,667
2 3,511,000
Al 1,638,467
2 702,200
SSWARA MRS X2 (A LA 253,312 268,452 A15,140
2 126,656
Al 63,328
3 63,328
307 2I2t0I A 253,312 268,452 15,140
2 126,656
Al 63,328
2 63,328
11 AFBISX AL X 253,312 268,452 15,140
OZSDEA H2IHLKIS (CHH DA
253,312,000 253,312
2 126,656
Al 63,328
2 63,328
S DA HIMAY X 2,851,922 2,841,000 10,922
Al 1,425,961
3 1,425,961
307 21201 A 2,851,922 2,841,000 10,922
Al 1,425,961
2 1,425,961
11 ABBISTAEE X 2,851,922 2,841,000 10,922
ESDAF MR EY] 2,851,922,00024 2,851,922
Al 1,425,961
2 1,425,961
H20IXY H2I01% Zeld el X 91,840 643,986 277,854
Al 460,920
2 460,920
307 I2t0I & 921,840 643,986 277,854
Al 460,920
2 460,920
11 ABBIST AL E X 91,840 643,986 277,854
OFL0IXIZ 0lI01E =2/ o12t| X
921,840,000 921,840
Al 460,920
2 460,920
AF2 021017 X2l oAl X 446,400 462,000 15,600
307 21201 A 446,400 462,000 15,600




SN BUESD
X EsAHIA 2
ol E]0IS 2 ALK (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 446,400 462,000 15,600
OA7E 020l =cld el2iH| X2
445,400,000 446,400
Oelold 332424 Nd 1,266,915 1,257,081 9,834
Al 886,840
- 380,075
307 21201 & 1,266,915 1,257,081 9,84
Al 886,840
- 380,075
11 AMEISXAEEES 1,266,915 1,257,081 9,834
O0lRI01E HH2ATA X8
1,266,915,000& 1,266,915
Al 886,840
- 380,075
Oelold =0t HNEE It X3 45,644 44,362 1,282
Al 22,822
- 22,822
307 @I2t01 & 45,644 44,362 1,282
Al 22,822
- 22,822
11 AMRISXAEEES 45,644 44,362 1,282
OO0l &R0t AHEH Ity X2
45,644,000 45,644
Al 22,822
- 22,822
Oglold 2 X3 (WM -Hl) 147,458 144,733 2,725
= 88,475
Al 41,288
T 17,695
307 elztol & 147,458 144,733 2,725
= 88,475
Al 41,288
- 17,695
10 Al2ISTIAIEEE 22X 147,458 144,733 2,725
OO0ElolE 2SN (W 7HI)
147,458,000 147,458
= 88,475
Al 41,288
- 17,695
oiglold d@tetyl X3 168,247 177,19 A\8,949
Al 84,124
- 84,123
307 elztol & 168,247 177,19 28,949
Al 84,124




SN BUESD
X EsAHIA 2
el ER0ls ® AlIEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 84,123
11 AMEISXAEEXS 168,247 177,196 28,949
O0elold ¢l X3
168,247,000 168,247
Al 84,124
- 84,123
oglold Aoa=sHl & 186,400 0 186,400
201 er23| 186,400 186,400
01 At2teltl 186,400 186,400
OOlRI0IE A4S X
186,400,000& 186,400
Oelold gE=Es S N 33,400 110,400 AT77,000
Al 16,700
- 16,700
307 @120l & 33,400 110,400 AT7,000
Al 16,700
- 16,700
11 AMEISXAEEES 33,400 110,400 AT77,000
O0eloly ge=E3 S N
33,400,000& 33,400
Al 16,700
- 16,700
oelold sJ13380] giis X3 44,182 75,760 131,578
201 er2 3| 44,182 75,760 A\31,578
02 S3=gHl 44,182 75,760 A31,578
O0lglold 3J1838)| iz K&
44,182,000 44,182
Olgloly el XI& 18,000 45,720 N2T,7T20
307 elztol & 18,000 45,720 N2T, 720
11 AMEISXAEEES 18,000 45,720 N2T,T20
O0lelold 2eldl X2 18,000,000& 18,000
23 H20IZ 2ZHI(HSALY) 956,418 926,818 29,600
Al 841,648
- 114,770
307 gl2to| & 956,418 926,818 29,600
Al 841,648
- 114,770
11 AMISXAIEEX 956,418 926,818 29,600
O&3¢€ el X& 956,418,000 956,418
Al 841,648
- 114,770
S3€ 0elold 24dl K& 197,920 197,920 0
307 glztol & 197,920 197,920




A SMEFD
M B=AHIA =
el 250ls & AIEXIE (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
" AMSI=XAIEEE 197,920 197,920 0
O3380{alold 2gH| XA
197,920,000& 197,920
=58 HE0old Zel& olAHd| K& 194,646 180,360 14,286
Al 97,323
- 97,323
307 gI2tol ™ 194,646 180,360 14,286
Al 97,323
- 97,323
11 AR SXAMEE X 194,646 180,360 14,286
O338 oglold =2|& o1yl X
194,646,000& 194,646
Al 97,323
- 97,323
=3EN20IE 43 XA(K0tE 24U X&) 48,600 50,508 1,908
Al 24,300
- 24,300
307 gIzHol 48,600 50,508 21,908
Al 24,300
- 24,300
11 AR SXAMEE R 48,600 50,508 1,908
OZ3800l& 43 XA (Kot 23
gl X&) 48,600,000& 48,600
Al 24,300
- 24,300
IFENE0E 2EXA 1,104,928 1,188,182 A83,254
Al 558,464
- 546,464
307 gI2Hol ™ 1,092,928 1,172,182 AT9,254
Al 546,464
- 546,464
11 Al SXAMEE X 1,092,928 1,172,182 ANT79,254
OQUHEHOZOE 2HX 2
1,092,928,000& 1,092,928
Al 546,464
- 546,464
402 SIZERH=0I1H 12,000 16,000 24,000
Al 12,000
02 QIZEXHE A 2 (01 THE) 12,000 16,000 24,000
OeIEEel0ld &Il
12,000,000 12,000
Al 12,000
SEESAME(FHLAER) 2N 281,310 290,900 A9,590
Al 140,655




SN BMESD
X EsAHIA 2
el ER0ls ® AlIEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 140,655
307 gl2tol & 281,310 290,900 29,590
Al 140,655
- 140,655
11 ARRIS XA E X 281,310 290,900 29,590
OS+ESAL(HA2R)2Y X
281,310,000 281,310
Al 140,655
T 140,655
Z0Hot MEEXZ WAL X 265,600 409,728 A144,128
Al 132,800
- 132,800
307 @20l & 265,600 400,728 N144,128
Al 132,800
- 132,800
11 AMISXAIEEX 265,600 409,728 A144,128
OFHOL HEEXZ WAL XIS
265,600,000 265,600
Al 132,800
- 132,800
SOISEXNHEH =2 603,440 583,99 19,441
Al 24,000
- 579,440
307 el2to| & 603,440 583,999 19,441
Al 24,000
- 579,440
05 git?(& = 603,440 583,99 19,441
OF0tESEXNZHH =29
603,440,000 603,440
Al 24,000
- 579,440
SOISEXNEHH 2S(RFRUK)(HEAIY) 25,000 25,000 0
Al 18,750
- 6,250
307 elzto| & 25,000 25,000 0
Al 18,750
- 6,250
05 212+ = 25,000 25,000 0
OF0ISgXgdE R2u= 24
25,000,000& 25,000
Al 18,750
- 6,250
oot SEEF =322 =29 78,042 66,350 11,692
307 elztol & 78,042 66,350 11,692




SN BMESD
X EsAHIA 2
el ER0ls ® AlIEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 78,042 66,350 11,692
OO0 SEES =22z 13 29
78,042,000& 78,042
G20t FHZUUE 21 & =Y 748,326 1,060,844 A312,518
Al 374,163
- 374,163
307 21201 & 748,326 678,616 69,710
Al 374,163
- 374,163
05 2ItRIE = 748,326 678,616 69,710
OSYSY HUUEC 28T
748,326,000 748,326
Al 374,163
- 374,163
22 2LHEH 29 12,600 16,300 A3,700
= 6,300
Al 3,150
- 3,180
301 EtE N = 12,600 16,300 23,700
= 6,300
Al 3,150
- 3,180
14 JIEt2d=3 12,600 16,300 A3,700
OR=2 ZLIHEH 29 12,600,000& 12,600
= 6,300
Al 3,180
- 3,180
f==012l018 &8 = N& 51,900 36,540 15,360
201 er23| 900 540 360
01 At2tltl 900 540 360
ORF0el01E &AM M=
30,0002 *30H 900
307 gl2to| & 51,000 36,000 15,000
1 AMISXAIEEXS 51,000 36,000 15,000
O=R=0{el01d &3 =&
51,000,000 51,000
UHElold &th(eld) maliots Alelxlg R 7,200 7,200
307 elztol & 7,200 7,200
05 2IZtAE = 7,200 7,200
OOf2l0l& sfth(2a) TSHotsS a2IXIZ X
& 7,200,000 7,200
S 12H| XXM (AIBIEX) 378,622 371,338 7,284
Al 189,311
- 189,311




SN BUESD
X EsAHIA 2
ol 250t € AKX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 378,622 371,338 7,284
Al 189,311
- 189,311
11 AMEISXAIEEXS 378,622 371,338 7,284
OEsuAA A4 X3
378,622,000 378,622
Al 189,311
- 189,311
0201y 2BNIo RASF(E2BH]) X2 1,416,600 1,390,400 26,200
Al 708,300
- 708,300
307 lztol & 1,416,600 1,390,400 26,200
Al 708,300
- 708,300
11 AMEISXAIEEES 1,416,600 1,390,400 26,200
OO0l2l0ld CeAIor RAES(22BH) X1
1,416,600,000& 1,416,600
Al 708,300
- 708,300
O12l01E SAHL t&u=H| X 21,600 0 21,600
Al 10,800
- 10,800
307 glztol & 21,600 0 21,600
Al 10,800
- 10,800
1 AMEISXAEEXS 21,600 0 21,600
OOel0lE SAHAF et WFH| A&
21,600,000& 21,600
Al 10,800
- 10,800
01X Oelold oMier 248H| X3 295,200 0 295,200
Al 147,600
- 147,600
307 elztol & 295,200 0 295,200
Al 147,600
T 147,600
11 AMEISXAIEEE 295,200 0 295,200
OZF0INENE0IE oM =S| X2
295,200,000 295,200
Al 147,600
- 147,600
Oi2l0ld 2A=0I0ts 2Nl RE2REESE 97,920 0 97,920
Al 25,536
- 72,384




2A: SMEF1
mE: BEAUIA S
ol 250t € AKX (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 97,920 0 97,920
Al 25,536
2 72,384
1 A= XA EE 97,920 0 97,920
OORI0IT 2=QI0IE OI5H RRRUES
= 97,920,000& 97,920
Al 25,536
- 72,384
0{2l0l& 2=02I0l= 2toNl ER2EH| 150,300 0 150,300
Al 75,150
- 75,150
307 2I2+01A 150,300 0 150,300
Al 75,150
- 75,150
11 AL SXAMEES 150,300 0 150,300
OONEI0IE 2=0I0tS CAl ZRAY|
150,300,000& 150,300
Al 75,150
- 75,150
d=7d Helold =01 &&e 3,000 0 3,000
201 Let23H| 3,000 3,000
02 2324l 3,000 3,000
Od=7& 0e0ld =016 FXES=H|
3,000,000& 3,000
R0l Akt 1,814,900 1,678,100 136,800
SFLAA AFESH N 864,000 728,000 136,000
307 212+01™ 864,000 728,000 136,000
11 AL =SXAMSEES 864,000 728,000 136,000
OB=sudA A28z N3
864,000,000 864,000
SFWAF OOIAI =Y XI& 507,600 507,600 0
307 QIZ2t01A 507,600 507,600
11 AR SXAMEE R 507,600 507,600
OEF AL OLOIAIE =&
507,600,000& 507,600
SEFUA A== XA 270,000 270,000 0
307 212+01 A 270,000 270,000
11 AL =SXAMEES 270,000 270,000
ORI A4y X2
270,000,000& 270,000
WA 2E5EAE X2 165,600 165,600 0
307 2Iz2+0l™ 165,600 165,600
11 ASIESXAEEX 165,600 165,600




SN BUESD
X EsAHIA 2
el 2F0 et (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=SIA 2% Fi+g N
165,600,000& 165,600
EQEFuAM Ad=g Ad 6,000 6,000
307 gl2to| & 6,000 6,000
1 AMISXAIEEXS 6,000 6,000
OEQESWAF Zai+g g
6,000,000& 6,000
2sXd g2Fd 1,700 900 800
201 2egh=3| 1,200 1,200
01 At2t2ltl 1,200 1,200
ORdeEsuda 5% 30,0002 ~40& 1,200
203 HE=H] 500 900 2400
03 A= PR FAIH| 500 900 2400
OEsAd gfxd 500,000 500
JHEFHEE G 975,606 993,340 AT7,734
= 27,597
Al 460,505
- 487,504
OLOIAIE BEl X1 - 2 890,606 908,340 A17,734
= 27,597
Al 431,505
T 431,504
307 glztol & 790,726 709,140 81,586
= 27,597
Al 381,565
- 381,564
05 2ItRIE = 790,726 709,140 81,586
OOIOIAESES JIAFREI 20,000,000& 20,000
Al 10,000
T 10,000
OO0tOINEEH 28 XNIE
770,726,000 770,726
= 27,597
Al 371,565
- 371,564
401 Al HIZ 201 70,000 180,000 A110,000
Al 35,000
- 35,000
01 AlZ2H| 70,000 180,000 110,000
OOIOIAIZ S EXI cl2adl|
70,000,000 70,000
Al 35,000
- 35,000
402 QI>F X201 & 29,880 19,200 10,680




SN BMESD
HE: BENUIA S
&elr JIES0E-SXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,940
T 14,940
02 QI X2 AL EE(0IETHE) 29,880 19,200 10,680
OSSH gdat At XIH
29,880,000& 29,880
Al 14,940
- 14,940
HEs0Ede 29 X2 85,000 85,000 0
Al 29,000
- 56,000
307 212+01& 85,000 85,000 0
Al 29,000
- 56,000
05 2IIRIE =2 85,000 85,000 0
OJIES0H= - NdEH 29 T3
45,000,000& 45,000
Al 9,000
- 36,000
OJE=F0t2ds T2 25AE X
40,000,000 40,000
Al 20,000
- 20,000
o2l01E Xzz2te 5,120 5,120 0
o=lols X=E 5,120 5,120 0
202 04l 4,320 4,320 0
01 =LHAHI 4,320 4,320 0
OO0lgl0IE X=E3 & SF0HI
10,0002 x4 & » 122 x 103 x90% 4,320
203 =8| 800 800
03 A=A H R S| 800 800
O0RI0IE NEHY LLEZ
800,000 800
HH2IBHI(SLESL) 79,235 78,649 586
IH2AH(EMESY) 47,3% 47,789 A393
QI 2Hl NRAIE(ZAES) 47,3% 47,789 A393
101 @1A4H| 47,3% 47,789 A393
03 SRA(RIH )22 U2+ 47,39%6 47,789 A393
OJlzs 2,465,790« 18~ 128 29,590
OxD2L4Y
18,9903 »1&*30AI 2H= 123 6,837
OfY2RLg
18,9002 12 +8A| 2+ 123 1,824
OZHIAMHI 140,000& 122 1,680
OgZ =l 2,465,790 <22 *60fk 2,959




EeE!
HY2HZHI(BEAERD)
QIARIH(BAES)
SN - BB SR(BH) - KISAY - BAS A
ONIS A 20,0002 23] 40
OgxiREAg
12,6502+ 1H+8Al 2t 152 1,520
(OFSI=sal= 1,232,895&*23| 2,466
OF 22 40,0003+ 123! 480
=2ZI(EAEE) 31,839 30,860
JI2FUINMSAI (BAEFD) 31,839 30,860
201 2| 19,815 18,836
01 Ar22teltl 19,815 18,836
Oget=2H| 54,5002 * 17 » 12 x90% 10,023
O=gl 8,000 x17Z 64« 123 9,72
202 04dl 8,424 8,424
01 =WOdbI 8,424 8,424
OF-FS{e1s] 10,0002 13H x6 2 * 122 x90% 8,424
203 R &I 3,600 3,600
04 FA2ILR AL 3,600 3,600
ORN2IYRFA| 300,000& 123 3,600




H & 0l & AHS B Ml A

A BAEY
X mhlE I € NHEE
prel

Rl MEHDIE +H 2 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAMF 30,381,832 21,202,598 9,179,234
= 200,000
Al 2,628,403
- 27,553,429
HolE2 28 & NS 23,992,410 15,676,059 8,316,351
= 200,000
Al 2,628,403
- 21,164,007
dEHIIZ +=H € 22 11,285,228 7,939,382 3,345,846
Al 359,971
- 10,925,257
SEHSE & WEHDISAEH 2 951,882 816,697 135,185
206 M=l 849,740 723,984 125,756
01 MZH| 849,740 723,984 125,756
OSENLe=SE M 694,400,000& 694,400
OIEMEHSE M 55,440,000 55,440
OUEHIIZSAEIH MA 67,200,000 67,200
OSEESF WA 32,700,000 32,700
308 AHXIEMSOIH 101,442 92,713 8,729
1 SIS0t HAS A 101,442 92,713 8,729
OSENSE 2cIAE S HAEH
101,442,0002 101,442
403 AXIEHHSAH=201H 700 0 700
02 S7I2S0 U H=E 2 E AL 700 0 700
OZEHNSE 2eIAMZ St HAAIZEHI
700,000 700
IHEMNSHSE = XMl 998,898 824,301 174,597
307 glztol & 970,898 796,301 174,597
05 2ItRIE =S 970,898 796,301 174,597
OIIEAEHSE +=HXicltl
970,898,000 970,898
308 AtXIEMSOIE 28,000 28,000
12 I8 28,000 28,000
OJEAIEH HERE3(A2)
28,000,000 28,000
HEHDIZ =8 - 28 Xel 4,080,466 2,646,720 1,433,746
307 glztol & 4,080,466 2,646,720 1,433,746
05 2ItRIE =2 4,080,466 2,646,720 1,433,746
OdgHII=Z =& - 2t U= 4,080,466
o% RPHN(FEY) 4,080,466,000& 4,080,466
HEHIIZ =TSN & L2 Bl 2,438,448 1,425,324 1,013,124
308 AtAIEHMSOIE 2,438,448 1,425,324 1,013,124
11 S| 2SO0 ZB XA AIE 2,247,828 1,146,434 1,101,394




2A:

3 El;éz%* EUPN kel
Rl MEHDIE +H 2 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMEEHDIZ AN L 225 ool
=3 2,247,828
OMEHIIS SATHWRK L A2AF Big)
2(RZY) 2,247,828,000& 2,247,828
12 JEREgs 190,620 278,890 88,270
OdEHIIZ M2FE= 190,620
oBBHIIZ HESLYS(£2)
111,195,000& 111,196
OMEHIIZE HERES ()
79,425,000 79,425
HEHII= +=H Xl 2,387,941 1,786,800 601, 141
201 et 3| 900 23,600 A22,700
01 At22t2l] 900 23,600 A22,700
O2ESI HEHII=2(HSMN) =Sxell
30,000& *30= 900
307 elztol & 2,387,041 1,763,200 623,841
05 21t =S 2,387,041 1,763,200 623,841
OUgHDI= =& - 28l
1,693,457,000& 1,693,457
OUEHII=Z XMl 693,584,000 693,584
MeDl SAIEEE 2 3,852 3,840 12
201 2= 3,852 3,840 12
01 AtR2t2lt] 1,452 1,440 12
O] SAHSE A=
45,000 42 180
ORI PAXEE POLANALSSH|
1,272,000 1,272
02 S3=gHl 2,400 2,400 0
OXeDl gAdetd &=
80,000& * 122 960
OMI| YAFBE AR
120,000& ~ 12& 1,440
HEHDIZ 2CcliiE s28s N& 22,720 11,880 10,840
Al 10,000
- 12,720
201 fet= 3| 22,720 11,880 10,840
Al 10,000
- 12,720
01 AtR2te|Hl 2,720 1,880 840
OdEHIIZ ZclHE 2t E22 N
1,800,000 1,800
OUsSH S4xe BEE M
30,0003 x4 120
OdeHIIZ 2cIiE AZ JEA AME
e 20,0002 =40 800
03 A2 I 20,000 10,000 10,000




2A:

33 Wil 28 2 N
Rl MEHDIE +H 2 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0t NMHA=8Us 20,000,000 20,000
Al 10,000
- 10,000
HEHIIZ =8 - 28 HASH Bt 8,550 13,350 24,800
301 EetE2 NS 8,550 13,350 24,800
14 JIEt2as 8,550 13,350 24,800
OFLE=RE 42 TAH &H|24
100,000 x8& +5& 4,000
O &g AHl2
50,0002 15«56 3,750
OR+gH ZLa= 800,000 800
HDl=S ZEstArg 42,500 47,000 24,500
201 fet= 3| 22,500 27,000 4,500
01 AtR2tc|HI 22,500 27,000 A4,500
OHAEX - S0/ WAl
20,000,000 20,000
OMEE= 2z & 12182 2d 822
NEN 2,500,000& 2,500
301 EtE N = 20,000 20,000
14 DBt 2 a3 20,000 20,000
OSA=FHII= ZEHE QAMEI2X
20,000,000 20,000
HIOISHM2IAlE ATHAI 2+ XIEA 349,971 363,470 213,499
Al 349,971
201 er2 3| 9,000 9,590 A590
Al 9,000
01 At2t2ltl 7,000 7,290 2290
Oltsetg el 2823 7
7,000,000& 7,000
Al 7,000
2 S5=2g4l 2,000 2,300 A300
Oltsetd 2|l doi2s
2,000,000& 2,000
Al 2,000
301 22N = 340,971 353,880 212,909
Al 340,971
14 0Bt 243 340,971 353,880 212,909
OnlgsERR0 BE4L
340,971,000 340,971
Al 340,971
SARE A 2 754,499 356,841 397,658
= 150,000
Al 75,000
- 529,499




2A:

I lf;I;_I; ZE & At
Rl ZAEE HEA 2t EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
2@ LES X 569,849 198,303 371,546
= 150,000
Al 75,000
- 344,849
201 =3 264,649 193,103 71,546
01 Al22:21H 47,149 33,491 8,658
OBZ0IsE 2ENINAL S|
484,000& * 122 5,808
Okzd0l=td A8 35,841
ONZEALE HAES 20,073,000 20,073
og&OtA3 6003 *73Z *30~ 123 15,768
Ogdolstd He 5,500
o -Z2EH0IGHE HEBE ESH|
5,500,000& 5,500
02 324l 217,500 154,612 62,888
OHAX BEZ(H13]) 17,400
odBHAR 2,000,000 *5CH 10,000
o Nat=xt 2,000,000 *2CH 4,000
o2t=xt 1,000,000 *3CH 3,000
0 AIIEZH 400,000 +1CH 400
(OLFSPNE-E=: =3 30,0002 x10& 128 3,600
O&BEAX} =kR= 200,000 * 122 2,400
OXtgrset] 98,400
oMSHAR 4,600,000& 123 55,200
0 D &k==XHCNG) 2,000,000 122 24,000
o&=xt 1,400,000& ~12& 16,800
oAJIERH 20,0002+ 122 2,400
OBZII(2201) dgty
110,000 »30CH 3,300
OF e ]| 90,000,000& 90,000
OFaxE&=dl =4H| 80,000& *30K 2,400
203 FR=4| 2,700 2,700
03 A=A =] 2,700 2,700
OEABRAIMADET
3,000, 0003 *90% 2,700
303 Zaf= 2,500 2,500
01 Zats 2,500 2,500
OZgllstd Z&=s 500,000 +5H 2,500
405 KHAHF SH] 300,000 0 300,000
= 150,000
Al 75,000
- 75,000
01 M ESFH SHI 300,000 0 300,000




2A:

Hasx)
33 Wil 28 2 N
Rl EAEE HE4A 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=ZMHIAMHX M2 A
300,000,000& 300,000
= 150,000
Al 75,000
- 75,000
CE2 L0 HA IWE HM(HEA) 160,000 133,650 26,350
307 elztol & 160,000 133,650 26,350
05 212t S 160,000 133,650 26,350
OHE AL el ] 160,000,000 160,000
C2EZ0IHE APDIEE 19,550 20,488 A938
201 er= 3| 1,290 1,438 A148
01 AtR2tc|HI 1,290 1,438 A48
ORzEH HMH 30,0002 4 120
OZHEAN S22 MA
130,000 +6& 780
Otgdil=td & SHA BAHIS
78,0002 5% 390
301 LEN= 15,750 16,500 AT50
14 0Bt 2a3 15,750 16,500 AT50
O==z&dilztd e NI Fo3 15,750
O HUEENT} SAE
350,000& x10=+3& 10,500
O HUEINT} SAE
350,000 x5=+34 5,250
307 @120l & 2,510 2,550 A0
01 22 +=H| 2,510 2,550 A0
O==Z&0Istd LTS 2,510
oC2H0IFH HEES
30,0002 73 2,190
ozt dlIeH MAMEN HYES
40,0002 ~8H 320
2g0Istd 2238 e X 5,100 4,400 700
201 fet= 3| 5,100 4,400 700
01 AtR2t2lHl 2,700 2,000 700
OgtZ0lstd |HE 2H0IH =24
300,000 x9N 2,700
2 S5=2g4l 2,400 2,400 0
Osta0l=ta |FAE AW &JIks
200,000 * 122 2,400
SEHEI HS 2l 763,310 646,092 117,218
SHEIANE fet 25 NE 619,624 557,092 62,532
201 eer23y| 269,224 247,142 22,082
01 AtR2t2|HI 8,744 9,1%4 A450
ORH&EI SN A8 =23 78
8,384,000% 8,384




FA B
33 Wil 28 2 N
&t RHEI| IS 2L (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHJI2 SUE)| Sa2 98 oas, o
3t 2g 100,000 x4 2 +90% 360
02 S3=gHl 260,480 237,948 22,532
OHIISRHEI IOV RAE+ ESF 40,000
o I&E CCIV 25,000,000 25,000
o 0IS€ CCTV 15,000,000 15,000
OHJIZ SEHSI| CCIV Al &H|l |8
5,000,000& 5,000
ORHE)| H=EFE RUHE 0I8=
40,0003 * 122 480
Ol SEEI| GV 120,000
oCCIV &JIR= 6.,000,000& 6,000
oCCTV &E3lH AIEZ 114,000,000 114,000
OHllE RHEI| CCTV 2LHE EF
95,000,000 95,000
301 22N 500 500
14 JIEt2 8= 500 500
ORHSIRD L= 50,0002 104 500
401 Al HIZL 201 322,400 254,450 67,950
01 Al&H| 322,400 254,450 67,950
OmPIE fEFI| CCV 322,400
oCCTV #AIEH EY 15,000,000 15,000
oHDIZ &I CCTV &AEX
13,000,000 1504 2~ 195,000
oCCTV S NEEX 3,080,000 *307H 92,400
o HUZAIEX ABH 0K
20,000,000& 20,000
405 AtatE = 27,500 55,000 A27,500
01 IR ESFSHI 27,500 55,000 A27,500
Of=&I| &% 0S8 CCTV —*0H
5,500,000 *5K 27,500
EYSI| Ml =1 HMel(E-HDI2) 143,686 89,000 54,686
307 glztol & 140,686 84,000 56,686
05 2ItRIE =2 140,686 84,000 56,686
OSYSIIMXYDI(E-RTHIIZ) =AHHMIH
140,686,000 140,686
308 AXIHS0IA 3,000 5,000 /2,000
12 JIEetR8s 3,000 5,000 A2,000
OS82 dEfgs(a2)
3,000,000& 3,000
SHMEF HII=2 N2 e 6,782,137 3,309,115 3,473,022
Al 1,810,200
- 4,971,937
SASFHDIZ HFES & dESF A 146,584 142,584 4,000




2A:

HAH D
M HDI2 2 L XA
Rl SAEF WIS AEg EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
206 =4l 146,584 142,584 4,000
01 M=4l 146,584 142,584 4,000
OSASRHIIZ ERES M
18,098,000 18,098
OSAERHIZ 82885 A
123,245,000 123,245
OSAEFHIIZ dE=HEI| 7
5,240,500 5,241
SHEFHIIE 2 E S2ES N 1,994,074 162,724 1,831,350
Al 1,746,000
T 248,074
201 L= 96,130 160,780 A64,650
01 AF2-2t2ltl 1,300 1,300 0
OSHHE NtEs fe &?s5, Hial
= 100,000& +x3H 300
OSals SN = 822 &
1002 *10,0000HK 1,000
02 S2=24l 94,830 159,480 64,650
ORER= 1,230
0ESTH SAMSFHIIE =H =2 1
AN &S 4303 %1350 2+ 123] 697
0SASFHDIS 23 2 ¢S
2 +6190H A x23] 533
ORFIDI I Z&D1D] 93,600
0 SSTH RFIDJIEE ZEID| &JIRsS
13CH+300,0002« 1200 & 46,800
0 SSFH RFIDIIBE ZEIII| =24
13CH*300,000& * 120 & 46,800
202 04| 1,944 1,944
01 =LHO LI 1,944 1,944
O8AE: HII2 28 His 25 5 220
] 10,0002 x3E 62+ 122 x90% 1,944
307 212+01™ 300,000 0 300,000
Al 150,000
T 150,000
02 QA HAIEE X 300,000 0 300,000
OsAER HI2 JHEE 28| 25 A
A 300,000&1,000H 300,000
Al 150,000
- 150,000
401 Al HIZL 01| 1,596,000 0 1,596,000
Al 1,596,000
01 A<l 1,596,000 0 1,596,000
O&Es tHEZgIl X1 =t AtY
45,600,000 +35CH 1,596,000
Al 1,596,000




SN FAHE
M HolE 2 & NS
oelr SASEF HoIE et (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
SAHESFHIIS Melth 3,941,8% 2,412,224 1,529,672
307 212told 3,143,998 2,040,029 1,103,969
05 2IHRIE S 3,143,998 2,040,029 1,103,969
OSA2: HIIZ2 Meltd /E3 3,143,998
0SAS 4 - U (AT A)
2,371,979,000& 2,371,979
oHIMAl A2 MelUH#S(REY)
772,019,000 772,019
308 XXM SOIH 797,898 372,195 425,703
07 XM LRSS 797,898 372,195 425,703
OSAS® HIIE XMolgte= 797,898
0SAER HIIE2 HMelgtd = (’T
71,7343%11,1238 797,898
SANEEEFHEI] HEAY 127,776 127,776 0
201 =3 127,776 127,776
02 3224l 127,776 127,776
OHBANBI| HE HBR(ATA)
3,200 *112|x3,630H 127,776
SHEFHIIS SEH Al 571,807 463,807 108,000
Al 64,200
- 507,607
201 eer23y| 332,067 332,067
01 AtR2t2|HI 4,953 4,953
OSAER HIIZ2 dE=HE)| 8sEAl
16,6102 «250H 4,153
OSAESF Hol=2 2d oM 81 goteld
3 F4g 100,000 +8¥ 800
02 S22l 327,114 327,114 0
OZs+=H RFID EHl S4Ls
3,850& %1, 170CH* 12& 54,054
OZSFH RFID EHl RAI=2=H]
18,5003 %1,230CH« 12& 273,060
401 Al HIZL S 0HYI 239,740 127,740 112,000
Al 64,200
T 175,540
01 Al&H| 239,740 127,740 112,000
ORFID &4 &H2E 2,340,000 *11CH 25,740
ORFID J1BF SEDIJ| =S FH| WHI(AIHIE=
AH) 2,000,000 *107CH 214,000
Al 64,200
- 149,800
He=2s a5 2t 4,402,692 3,409,415 993,277
= 50,000
Al 383,232
- 3,969,460




SN HAHFD
33 Wil 28 2 N
=2l HWeES s 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
He2Z Meltid I 3,671,050 2,348,023 1,323,027
307 elztol & 2,925,102 2,007,319 917,783
05 2IHRIE S 2,925,102 2,007,319 917,783
ONEES Mot 8= 2,925,102
0Ty & - 2| 2,647,789,000& 2,647,789
o3& d MEHI(HI&RI2E)
272,553,000 272,553
oHEHS +& - 28t
11&%432, 727 M 4,760
308 AXIHMSOIA 745,948 340,704 405,244
07 HXHH2LEES 745,948 340,704 405,244
OMass Melid =+2(33) 745,948
0¥ 745,948,000 745,948
Hae st gs N2 15,710 17,822 A2,112
201 2= 9,500 2,980 6,520
01 At2t2lt] 7,500 400 7,100
OoNze sHtis NEHs 2 2 S 4
B cha= . gl gl
100,000 34 300
Ozlatd A 2de flgt B=2d AFD| +
= 2,500,000 *2CH 5,000
Ozletd A 2= ?et 222 HH
2,200,000& 2,200
2 S5=2g4l 2,000 2,580 A580
OoNgs 2 28 && 2=
4302 *4,6514 2,000
202 04l 2,160 2,592 N432
01 =LHOHI 2,160 2,592 N3
ONEE =4 HiE 25 & £08I
10,0002 x3& 6L « 12 2,160
301 EtE NS 250 1,250 1,000
14 0Bt 2a s 250 1,250 21,000
oglgeEssal oS
50,0003 +521 250
303 Z&a= 3,800 3,800
01 Za= 3,800 3,800
Ozlgd NtEz=at A JIH 2HEA Z&
= 3,800,000& 3,800
LIs&E 2 7,000 7,000
201 fer= 3| 7,000 7,000
03 A2 7,000 7,000
OZELI=EH 3,500,000 *22] 7,000
XHS;E*%) HE =AM A A (RIOHE 2200 2 500,000 1,012,080 /512,080
A

Al

250,000




2A:

PSS
33 Wil 28 2 N
ool HaEs MHEe 2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 250,000
201 er23y| 21,290 116,000 A94,710
Al 10,645
- 10,645
01 AtR2tc|Hl 18,290 111,000 92,710
OXt 2N 2823 78 ¥ S2H]
18,290,000 18,290
Al 9,145
T 9,145
2 s5=34l 3,000 5,000 /2,000
OXREB2A A2 It
750,000 42| 3,000
Al 1,500
- 1,500
301 22N = 478,710 796,080 A317,370
Al 239,356
- 239,355
14 JIEt2 8= 478,710 796,080 A317,370
ONBRRA BEZAT
478,710,000& 478,710
Al 239,355
- 239,355
MEZS eSO 2 108,232 20,000 88,232
Al 108,232
201 er23| 28,949 20,000 8,949
Al 28,949
01 At22t2l] 27,749 20,000 7,749
Oo2g=s 7Y 8,749,000& 8,749
Al 8,749
OBUENE L 22U8E
19,000,000& 19,000
Al 19,000
02 S3=gHl 1,200 0 1,200
Oes N ZEIAL A2 It
1,200,000& 1,200
Al 1,200
301 EetE2 N = 79,283 0 79,283
Al 79,283
14 IIEt2 83 79,283 0 79,283
Oes AHE&cIA ESEE=
79,283,000& 79,283
Al 79,283
CtalZJ] AL S8 X2 A 100,700 0 100,700
= 50,000




SN FAHE
33 Wil 28 2 N
=2l HWeES s 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 25,000
T 25,700
201 er23| 700 700
01 AlR2teldl 700 700
O8At=g 100,000 7 700
307 el2to| & 100,000 0 100,000
= 50,000
Al 25,000
T 25,000
02 2B YA E X 100,000 0 100,000
OLt21E)| AL S8 XIE A
100,000,000 100,000
= 50,000
Al 25,000
T 25,000
A=2te Hol=S2c 4,544 4,014 530
HOIZ 2HSM NE=HS 4,544 4,014 530
201 eer23| 2,600 2,070 530
01 AtR2t2|HI 2,600 2,070 530
OAA oI & HIIE XMl 2 E2= Xl
= 1,800,000& 1,800
ogss, oEs 7Y
100,0003*3& *13] 300
OAIZEHIIZ WS ZAE
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